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Subject : GE_Q01-Q10_PRT21FEBSH2
Question ID:- 1

Choose the word similar in meaning to the one given below :
TENDER

(1) Idle
(2) Delicate
(3) Comic
(4) Pupil
Options:-
.1, Option ID :- 1,

« 2, Option ID :- 2,
- 3, Option ID :- 3,

. 4, Option ID :- 4,
Answer Given:- 2, Option ID : -2

Question ID:- 2

Choose the word opposite in meaning to the one given below :
WOEFUL

(1) Ware

(2) Valiant

(3) Cheerful

(4) Tedious

Options:-

.1, Option ID :- 5,
« 2, Option ID :- 6,
« 3, Option ID :- 7,

. 4, Option ID :- 8,
Answer Given:- 3, Option ID : -7

Question ID:- 3




Identify the part of speech of the underlined word in the sentence given below.

Man is a unique animal.

(1) Noun

(2) Pronoun
(3) Adjective
(4) Adverb

Options:-

.1, Option ID :- 9,

- 2, Option ID :- 10,
« 3, Option ID :- 11,

« 4, Option ID :- 12,
Answer Given:- 3, Option ID : -11

Question ID:- 4

Choose the option in which VOICE in the following sentence has been correctly changed.
Ram is feeding the dog,.

(1) The dog is fed by Ram.

(2) The dog has been fed by Ram.

(3) The dog will be fed by Ram.

(4) The dog is being fed by Ram.

Options:-

.1, Option ID :- 13,
« 2, Option ID :- 14,
« 3, Option ID :- 15,

« 4, Option ID :- 16,
Answer Given:- 4, Option ID : -16

Question ID:- 5

Choose the option in which the following sentence has been correctly written in Indirect Narration.
Lalit said to Rama, “I shall give my book to you.”

(1)  Lalit promised Rama that he will give his book to her.

(2) Lalit told Rama that he would give his book to her.

(3) Lalit said to Rama that he shall give her his book.

(4) Lalit told Rama that I would give her his book.

Options:-

«1, Option ID :- 17,
« 2, Option ID :- 18,
« 3, Option ID :- 19,

. 4, Option ID :- 20,
Answer Given:- 2, Option ID : -18

Question ID:- 6




Choose the option in which the following jumbled words/phrases have been rearranged into a
meaningful and grammatically correct sentence.

(A) does

(B) what view
(C) of poverty
(D) the author
(E) express

(1) (©), (B), (D), (A). (E)
(2) (D), (E). (A), (B), (O)
(3)  (A) (B), (D), (E), (O)
(4)  (B), (©), (A) (D), (E)

Options:-

.1, Option ID :- 21,
« 2, Option ID :- 22,
- 3, Option ID :- 23,

. 4, Option ID :- 24,
Answer Given:- 3, Option ID : -23

Question ID:- 7

Identify the part of the sentence which has an error.
I hit the ball outof ground
@ (b (€) (d)

(1) (2
(2) (b
(3 (9
(4 (d)
Options:-

.1, Option ID :- 25,
- 2, Option ID :- 26,
« 3, Option ID :- 27,

« 4, Option ID :- 28,
Answer Given:- 4, Option ID : -28

Question ID:- 8

Fill in the blank in the sentence given below by choosing the correct option out of those that follow.

I speak truth. I am not afraid of it.
(1) the

(2) some

(3) a

(4 an
Options:-

«1, Option ID :- 29,




« 2, Option ID :- 30,
« 3, Option ID :- 31,

. 4, Option ID :- 32,
Answer Given:- 1, Option ID : -29

Question ID:- 9

Fill in the blank in the sentence given below by choosing the correct option out of those that follow.
He can’t be dishonest. He is board.

(1) on

(2) off

(3) above

(4) upon
Options:-

1, Option ID :- 33,
« 2, Option ID :- 34,
« 3, Option ID :- 35,

- 4, Option ID :- 36,
Answer Given:- 3, Option ID : -35

Question ID:- 10

Fill in the blank in the sentence given below by choosing the correct option out of those that follow.

Lalita took exception an innocent remark.
(1) upon

(2) to

(3) at

(4 on

Options:-

.1, Option ID :- 37,
« 2, Option ID :- 38,
« 3, Option ID :- 39,

« 4, Option ID :- 40,
Answer Given:- 3, Option ID : -39

Subject : GH_Q11-Q20_PRT21FEBSH2

Question ID:- 11




= fau 7o TN W Ut SH WY 2menfia wyR o vaifien sfea fasen i wem wife)

I8 FEl STl =1 2 R & 3= fren e i A % fan Sual 1 @ 9Ee i ae d9iet
TitaeR foren W &6 | e -9 | o1t 291 U2 |1 urel 9a | S e s st @l SiiaT 9um
o 9qe &l o1 gehdl, fdg & 9um Aed T8 o 9%, 98 of 12 foran 872

Site A9 o ferg st foven =nfew ?
(1) =3 foan

(2) TUTETTgol fae
(3) Wt faen
(4) Fifaew foen

Options:-

.1, Option ID :- 41,
« 2, Option ID :- 42,
« 3, Option ID :- 43,

. 4, Option ID :- 44,
Answer Given:- 4, Option ID : -44

Question ID:- 12

e feu o TerYr Wt ugeRt 39 UT e Wy ot waitien stea fame s wam st

7% el S 7= B o w1 S et W o AR & o g9l i @ B S 99 9E 9
7ifsen e w8 | fSey Hm-48 § et 37991 92 1 91 9okl | S e |emor st i sitem dum
o |uel 7€ o1 Yehdl, g % UM Wed TEl o Gehdl, a8 o 12 foen 72

forea safir § Foft ol a0 vk et et AT e 2
(1) =med U Hed

(2) wrEY E Ul

(3) Tt w sourE

(4) IoHE UF A

Options:-

.1, Option ID :- 45,

« 2, Option ID :- 46,

« 3, Option ID :- 47,

« 4, Option ID :- 48,
Answer Given:- 1, Option ID : -45

Question ID:- 13




e fau T ey Wt uget 39 UT 2 Wy ot waities sfed fawe @ eae st

I8 Fel el 311 B0 fob i 3= fnen e o ARl % faT Suel it @ 8 1 a9 dret ®
Zifser foren urd = | 99y FmH-99 | TRt 291 U2 91 uTe i | S e Seme safa & Ssiias 5umw
Y e &1 51 Gehdl, foe & 9uF Tred € o Ihdl, 98 9 wIE e g2

=fer | s1ufera € o a8 -

(1) Sfad &t FAfad 9 e H S
(2) e T AT H G GE
(3) =ife foen wre = e oA

(4) =itz e wra s fagw sme

Options:-

.1, Option ID :- 49,
« 2, Option ID :- 50,
« 3, Option ID :- 51,

. 4, Option ID :- 52,
Answer Given:- 2, Option ID : -50

Question ID:- 14

e feu o TerYr Wt ugeRt 39 UT e Wy ot waitien stea fame s wam st

7% el S 7= B o w1 S et W o AR & o g9l i @ B S 99 9E 9
7ifsen e w8 | fSey Hm-48 § et 37991 92 1 91 9okl | S e |emor st i sitem dum
o |uel 7€ o1 Yehdl, g % UM Wed TEl o Gehdl, a8 o 12 foen 72

foren siR ¥ o= Hey 3gEifed & © €
(1) =it foan

(2) 3= foan

(3) SfEA- HOHEA

(4) SAifaEhraTsH

Options:-

.1, Option ID :- 53,
« 2, Option ID :- 54,
« 3, Option ID :- 55,

« 4, Option ID :- 56,
Answer Given:- 1, Option ID : -53

Question ID:- 15




(1) |MHRY
(2) @rEHt
(3)
(4 T

Options:-

.1, Option ID :- 57,
« 2, Option ID :- 58,
« 3, Option ID :- 59,

« 4, Option ID :- 60,
Answer Given:- 1, Option ID : -57

Question ID:- 16

THT I T -
(1) w=d
(2) U
(3) A
(4 ©R
Options:-

«1, Option ID :- 61,
« 2, Option ID :- 62,
« 3, Option ID :- 63,

- 4, Option ID :- 64,
Answer Given:- 2, Option ID : -62

Question ID:- 17

o o fael wes ® -
(1) s1f=

(2) @red

(3) =M

(4) 3
Options:-

.1, Option ID :- 65,
- 2, Option ID :- 66,
« 3, Option ID :- 67,

« 4, Option ID :- 68,
Answer Given:- 2, Option ID : -66

Question ID:- 18




(1) W

(2) HaE

(3) wHE

(4 =
Options:-

1, Option ID :- 69,
« 2, Option ID :- 70,
« 3, Option ID :- 71,

« 4, Option ID :- 72,
Answer Given:- 1, Option ID : -69

Question ID:- 19

‘e’ =1 wafaTeE veg TE € -
(1) «<

(2) Her

(3

(4)
Options:-

.1, Option ID :- 73,
« 2, Option ID :- 74,
« 3, Option ID :- 75,

« 4, Option ID :- 76,
Answer Given:- 4, Option ID : -76

Question ID:- 20

‘sfreTers o Hi-fasse § -

(1) SISH + e
(2) ISF + @3
(3) IS @
(4) SIS + A
Options:-

«1, Option ID :- 77,
« 2, Option ID :- 78,
« 3, Option ID :- 79,

- 4, Option ID :- 80,
Answer Given:- 1, Option ID : -77

Subject : GA_Q21-Q30_PRT21FEBSH2

Question ID:- 21




Which of the following Fundamental Rights is guaranteed only to the citizens of India by the
constitution ?

(1) Equality before Law

(2) Freedom of speech and Expression

(3) Life and Personal Liberties

(4) Protection from being compelled to be a witness against oneself

Frafafaa § § # w1 9o sifusr Sfaum g Faa YRd & AR 61 T A T R ?
(1) fafy & a9& TaEa

(2) sl = TEdaa

(3) i 3R 2fesk w@daa

(4) A fowg TER I &g anA feu §im 9w

Options:-

.1, Option ID :- 81,
« 2, Option ID :- 82,
« 3, Option ID :- 83,

« 4, Option ID :- 84,
Answer Given:- 2, Option ID : -82

Question ID:- 22

The Ancient city of Harappa was built on the bank of which river ?

(1) Ravi
(2) Satlyj
(3) Kosi
(4) Meera

TS 1 T WX TR e % foRAR e e o ?

(1) TE
(2) Hags
(3) I
(4) wm
Options:-

.1, Option ID :- 85,
« 2, Option ID :- 86,
« 3, Option ID :- 87,

. 4, Option ID :- 88,
Answer Given:- 1, Option ID : -85

Question ID:- 23




Which of the following statements is correct about the National Food Security Act enacted in 2013
to provide food security to households in India ?

(1) 75% of the rural population and 50% of the urban population have been categorized as
eligible households for food security.

(2) 50% of the rural population and 50% of the urban population have been categorized as
eligible households for food security.

(3) 50% of the rural population and 75% of the urban population have been categorized as
eligible households for food security.

(4) Urban and rural distinction is not an eligibility criteria under the Act.

9T | 9RER] 1 @ g WeE S 7g 2013 H 9 T sy wren e sfufrm & 9 6 #E 1wee
e 87

(1) & g & fan 75% vt srame) 3/ 50% vl sTeml 61 o giar & &9 5 st fo 7 &
(2) TETE e & o 50% AT ST 3R 50% el S 1 U UHani & B9 H aifiehd fRan T €
(3) @ gLen & fearg 50% o srerel SR 75% el SAeral o1 9 uiEi % 9§ avfida foan T w |
4) 79 AfufEm F ot wed ot amior S uEm deis wrde 78 g

Options:-

.1, Option ID :- 89,
« 2, Option ID :- 90,
« 3, Option ID :- 91,

« 4, Option ID :- 92,
Answer Given:- 1, Option ID : -89

Question ID:- 24

Which of the following plants does not produce its offsprings through asexual reproduction ?
(1) Sugarcane

(2) Potato

(3) Mango

(4) Rose

Freafafaa § § 9 o1 den sl scafe & gy § @19+ 399 Yer 78 i § 2

(1) =7
(2) &g
(3) ™
(4 Ta™
Options:-

«1, Option ID :- 93,
« 2, Option ID :- 94,
« 3, Option ID :- 95,
« 4, Option ID :- 96,




Answer Given:- 2, Option ID : -94

Question ID:- 25

What is the waste chemical excreted by aquatic animals like fish ?
(1) Ammonia

(2) Urea

(3) Uric Acid

(4) Creatinine

el S8 FeArd el g It e e o E 2

(1) 7t
(2 Ffen

3) I ufds
(4) wHfefm

Options:-

.1, Option ID :- 97,
« 2, Option ID :- 98,
« 3, Option ID :- 99,

. 4, Option ID :- 100,
Answer Given:- 4, Option ID : -100

Question ID:- 26

Assertion (A) The temperature of every person may not be the same.

Reason (R) : The normal temperature is the average body temperature of a large number
of healthy persons.

Select the correct option from the given alternatives.

(1) Both (A) and (R) are true, and (R) explains (A).

(2) Both (A) and (R) are true, but (R) does not explain (A)
(3) (A)is true and (R) is false

(4) (A)is false and (R) is true

afuFyT (A) ;WS SAfdd F1 AIEE 99H @ 8 gl B

@ (R) . WY A9EE SR SE § ey il & R & SAied arqeH g g
9 feu o fasredi @ 9 wE faseq &1 994 Fifey

(1) (A) 3iT (R) i W&l § 277 (R), (A) 1 AT FHl &

(2) (A) 3 (R) SH1 9&t § fohg (R), (A) Fi =m=n &1 &Ll ©

3) (A) T £ 3R (R) Ted 7

(4) (A) 9 € 3 (R) 91

Options:-
.1, Option ID :- 101,




« 2, Option ID :- 102,
« 3, Option ID :- 103,

« 4, Option ID :- 104,
Answer Given:- 1, Option ID : -101

Question ID:- 27

Where was the Federation Internationale de Football Association (FIFA) 2022 World Cup held ?
(1) Argentina

(2) Spain
(3) Qatar
(4) Brazil

I 2022 fava w9 peare wfefra wa st g8 2

(1) ST
2 ¥
(3) =R
(4) S
Options:-

.1, Option ID :- 105,
« 2, Option ID :- 106,
- 3, Option ID :- 107,

« 4, Option ID :- 108,
Answer Given:- 3, Option ID : -107

Question ID:- 28

Which of the following statements is not correct about the Saraswati Samman award ?

(1) Itis given annually to an outsanding literary work published during the past ten years by an
Indian citizen.

(2) It carries a cash prize of 15 lakhs, a citation and a plaque.
(3) Awarded Literary work must be published in Hindi language only.
(4) Ramdarash Mishra was awarded the 31%! Saraswati Samman award for the year 2021.

HEEETT T YRR & 9] H S 91 U A9 87

(1) = fFdt urdta T g free g ad & Sm yaifve sapre aifefas @ % fau afifs w0 @
fen i 74

(2) TEH 15 W@ BYC e, Uh WM 03 31 UF ufgw v fhan o ¥
(3) 9veRd wifefors = ee fet aon § yerifea gt =ifeu |
(4) THeT faan &1 &9 2021 % faw 31 91 wwEd 99E qeH foa T

Options:-
.1, Option ID :- 109,




« 2, Option ID :- 110,
« 3, Option ID :- 111,

« 4, Option ID :- 112,
Answer Given:- 4, Option ID : -112

Question ID:- 29

Who won the award for best actor (Male) in the 53' International Film Festival of Indian (IFFI),
2022 held in Goa ?

(1) Lav Diaz

(2) Anupam Kher
(3) Chiranjeevi

(4) Vahid Motashevi

Tiran ® e 53 9 siateE yRdr fhen weiead (o7 UF U o7E) § gads A o R fRe
ST ?

(1) 4 &
(2) 3T W
(3) fersiE
(4) afEs HawE
Options:-

.1, Option ID :- 113,
. 2, Option ID :- 114,
« 3, Option ID :- 115,

- 4, Option ID :- 116,
Answer Given:- 2, Option ID : -114

Question ID:- 30

When was ‘National Milk Day’ celebrated in India ?
(1) 1 November 2022

(2) 15 November 2022

(3) 20 November 2022

(4) 26 November 2022

qrd | ‘i gy feaw’ e wern e ?
(1) 1 F&w=w, 2022

(2) 15 FF=R, 2022

(3) 20 TR, 2022

(4) 26 FEE=R, 2022

Options:-
.1, Option ID :- 117,




« 2, Option ID :- 118,
« 3, Option ID :- 119,

« 4, Option ID :- 120,
Answer Given:- 1, Option ID : -117

Subject : RA _Q31-Q35_PRT21FEBSH2
Question ID:- 31

If the digits in the number 7 98 205 3 4 6 1 are arranged in the descending order from left, then
which digit(s) will remain at the same position ?

() 3
(2 1
@) 8
(4) 5

Afc 7982053461 H i 1 9 R 8 gl H4 H =rafe fFa s a1 #8 9 siF/ o0 #1 fafq
&t & i ?

() 3
(2 1
(3) 8
(4) 5
Options:-

«1, Option ID :- 121,
« 2, Option ID :- 122,
« 3, Option ID :- 123,

- 4, Option ID :- 124,
Answer Given:- 3, Option ID : -123

Question ID:- 32

Manju and Teena start from their office and walk in opposite direction, each travelling 12 metre.
Both turn to their left and walk 20 metre. Manju turns to right and walks 16 metre and then again
turns to right and walks 40 metre to reach her house. Teena turns to left and walks 30 metre to
reach her house. What is the distance between their houses ?

(1) 40 metre
(2) 30 metre
(3) 20 metre
(4) 10 metre




TS SR 2 e Sifee 9 faade famn J 12-12 Hiew 9@ &1 ST ot S SR g # iR 20 Hie wea
F1 T T 3 gudt € 3R 16 e et € o R g 2t oiR set o1ud =R ugEd & faw 40 9=
At & | 1 At SR gEdT § 3R 3 TR ug = o T 30 Wi werd § | 39 91 & §rd foheen ween § 2
(1) 40 Hrex

(2) 30 Hix

(3) 20 T

(4) 10 "
Options:-

«1, Option ID :- 125,
« 2, Option ID :- 126,
« 3, Option ID :- 127,

» 4, Option ID :- 128,
Answer Given:- 4, Option ID : -128

Question ID:- 33

Eight persons are sitting in two parallel rows containing four persons each in such a way that
there is an equal distance between adjacent persons. Inrow 1, P, Q, R and S are sitting and all of
them are facing north. In row 2, A, B, C and D are sitting and all of them are facing south.

S sits second to the right of Q . A faces the immediate neighbour of S. There is only one person
between A and C. P does not face A. B is not an immediate neighbour of A.

Who is facing D ?

(1 s
(2 R
3 Q
4) p

13 =fdd IR -<IR Al el & guFrR Ui | 58 yer 92 ¥ f af=se safaadi & e aam gd 2
YfFa-19 P, Q, R 3R S Wt W &l 3R Hg %% 93 ¢

qfed-2° A, B, C 3R D | gferm =1 IR g ot o< 7
‘S, Q% ST 3R TEL WM W A3 81 ‘A’, ‘S’ % Fehean TSl % WA ST 81 ‘A7 3R ‘C % W e
s A F P, A F W TE @1 1 B, A Freeean TS e 7

‘DY % TIF I o421 & 2
(1) S
2) R
@) Q
4 P
Options:-

.1, Option ID :- 129,
- 2, Option ID :- 130,
« 3, Option ID :- 131,
« 4, Option ID :- 132,




Answer Given:- 1, Option ID : -129

Question ID:- 34

Given below is a question followed by two statements numbered (I) and (II) each containing some
information. Decide which of the statement (s) is/are sufficient to answer the question.

(Q) : Who among Suman, Nitin, Tanu, Mohan and Amit is the last to enter the class ?
() Suman comes before Mohan and Nitin but not before Amit.
(In Tanu is not the first to enter the class.

(1) The statement (I) alone is sufficient to answer the question while the statement (II) alone
is not sufficient.

(2) The statement (II) alone is sufficient to answer the question while the statement (I) alone
is not sufficient.

(3) Both the statements (I) and (II) together are not sufficient to answer the question.

(4) Either the statement (I) or (II) alone are sufficient to answer the question.

= w W T e € Fowes ag €1 e (1) @R @mem (1) fou e 2 )| o & veis | - e &
e s fFFT AT T R SR F faugaa g/ 8 |

(W): guA, fafam, 99, dred oiv sifqa § 9 wen § ofd | 9 Jaw i 8 2

HYT (1) : g, Ared iR Ffom | g et & fohg oifve 9 eet 7=

HA (1) 77 99 Yec! FEll H FA9 Tal Hl ©

(1) HA (I) FA T 1 I 24 & fore gaia & sefen e (11) el wiia =& &)
(2) TR (II) THe! Y99 1 I &7 & fole i & Siafeh e (1) el 9o =&l 2|
(3) A (1) 31 e (1) et uv &1 3w &9 & fo v =& €

(4) T HYUT (1) T HUT (I1) 3THel Y99 H1 ST &4 h o T3 71

Options:-

«1, Option ID :- 133,

« 2, Option ID :- 134,

« 3, Option ID :- 135,

- 4, Option ID :- 136,
Answer Given:- 2, Option ID : -134

Question ID:- 35




Select the option which best illustrates the three given classes.
Disciplined, Children, Intelligent.

(1)

3)

(4)

O@@@

TH faereq =1 Ffe S fou T i il 1 Fated §9 ¥ ¥ w1 6 2

(1)

(3)

(4)

Q@@@

Options:-

.1, Option ID :- 137,
. 2, Option ID :- 138,
« 3, Option ID :- 139,

« 4, Option ID :- 140,
Answer Given:- 2, Option ID ; -138

Subject : CL_Q36-Q40_PRT21FEBSH2

Question ID:- 36




To apply the same formatting such as color, font style and size to multiple pieces text or graphics
in MS-Word, we can use :

(1) Copying and Pasting
(2) Format Painter

(3) Paintbrush Format
(4) Format Copier

UH TH 98 § #E 2R 3R Uiy § TR, Wwie REd 3 9Es S| 99H wifen & fau en
1 YA T HFA © |

(1) eI 3 9=

(2) WHE U

(3) YeHY wHZ

(4) M HITIR
Options:-

.1, Option ID :- 141,
« 2, Option ID :- 142,
« 3, Option ID :- 143,

« 4, Option ID :- 144,
Answer Given:- 2, Option ID : -142

Question ID:- 37

Which of the following is not a function of an Operating System ?
(1) Process Management

(2) Memory Management

(3) File Management

(4) Input Data

freferfaa o 9 == w siqefen fowen +1 $evm =8 &2

(1) wEg fHeHe

(2) HER HsHe

(3) WA TS

(4) 79 S
Options:-

.1, Option ID :- 145,
- 2, Option ID :- 146,
« 3, Option ID :- 147,

« 4, Option ID :- 148,
Answer Given:- 3, Option ID : -147

Question ID:- 38




Main memory of a computer system is :
(1) Volatile

(2) Non-volatile

(3) Restricted

(4) Non-restricted

fopelt srroger fawem =1 39 HORT 2t €
(1) sfeer (FremrREe)

(2) TR-sAfEeR (AA-dremeREa)

(3) ufmsfed (ffigsfes)

(4) -yfgefua (A-Rfigsze)

Options:-

.1, Option ID :- 149,
« 2, Option ID :- 150,
- 3, Option ID :- 151,

« 4, Option ID :- 152,
Answer Given:- 2, Option ID : -150

Question ID:- 39

Which of the following is an example of an output device ?
(1) Plotter

(2) Scanner

(3) Microphone

(4) Sensors

frefafaa § 9 =01 % seqe feary = serwm 872
(1) e

(2) W

(3) HIEHIEH

(4) Hg9d
Options:-

.1, Option ID :- 153,
« 2, Option ID :- 154,
« 3, Option ID :- 155,

« 4, Option ID :- 156,
Answer Given:- 1, Option ID : -153

Question ID:- 40




Which of the following is the default (image) file format of MS-Paint ?
(1) .png

(2) .mpg
(3) .bmp
(4) .gif

frefafas § 9 #9991 t9-tg 9= +1 femee (399) FRd we 22

(1) .png
(2) .mpg
(3) .bmp
(4) .gif
Options:-

.1, Option ID :- 157,
- 2, Option ID :- 158,
- 3, Option ID :- 159,

« 4, Option ID :- 160,
Answer Given:- 2, Option ID ; -158

Subject : UL_Q41-Q55_PRT21FEBSH2
Question ID:- 41

What is the role of ‘Development’ in child psychology ?
(1) It helps fixing goals

(2) It determines readiness for learning

(3) It determines behaviour

(4) It promotes memory

a1 wefaa H a1 @ g & 2

(1) =E ey fauio & gemes 7

(2) TEH wfem F fou & fom e fuifa 2t 8
(3) TEH =ger fwifta € 2

(4) =98 wfd %1 daga g 2

Options:-

.1, Option ID :- 161,
« 2, Option ID :- 162,
« 3, Option ID :- 163,

. 4, Option ID :- 164,
Answer Given:- 2, Option ID : -162

Question ID:- 42




Which of the following influences growth and development in kids ?
(1) Peer growth

(2) Home atmosphere

(3) Social status

(4) Games and Environment

B A | Hyfg i fawm w fFreifwa § | forgan g vsa €2

(1) T Hgfs

(2) =R FEE

(3) wHIfsER wiefq

(4) B R Ee
Options:-

.1, Option ID :- 165,
« 2, Option ID :- 166,
- 3, Option ID :- 167,

« 4, Option ID :- 168,
Answer Given:- 4, Option ID : -168

Question ID:- 43

How can you differentiate between Growth and Development ?
(1) Growth is visible, Development not visible.

(2) Both are visible.

(3) Growth is Quantitative and Development is Qualititative.
(4) Growth is Qualitative and Development is Quantitative.

Tafgy oin famm ¥ e &4 faie =42
(1) aFfs =R 3t &, fawm erier fa )
(2) FHIAMRE

(3) gfg aETeTE Al & safE famm o g
(4) Ffg TomeRs Bt @ 2R faem AT 2 2

Options:-

.1, Option ID :- 169,
« 2, Option ID :- 170,
« 3, Option ID :- 171,

« 4, Option ID :- 172,
Answer Given:- 3, Option ID : -171

Question ID:- 44




What is most important phase in child’s development ?
(1)  Physical dimension

(2) Mental dimension

(3) Socio - emotional dimension

(4) Moral dimension

T & fara Ft gaifis el s 0 §?

(1) vmdifs sEm

(2) wHEfEE Y

(3) wrIfSE HameHes EH
(4) Afaess s

Options:-

.1, Option ID :- 173,
« 2, Option ID :- 174,
« 3, Option ID :- 175,

« 4, Option ID :- 176,
Answer Given:- 3, Option ID : -175

Question ID:- 45

According to you what school management should do to disturbed youth ?
(1)  Appointment of professional counsellors in school on priority

(2) Rustication from school

(3) General counselling by teachers

(4) Parents intervention

HAIF TR SEHEUE Ja& & fo faemes yeua & @ & =9ifee ?
(1) foaem ¥ mafawa F 18R | samfEs weemed w1
(2) foemem @ fremm

(3)  STEATYRI G WA TR 9 Gee faan s

(4) - foar =1 gxam

Options:-

.1, Option ID :- 177,

« 2, Option ID :- 178,

« 3, Option ID :- 179,

« 4, Option ID :- 180,
Answer Given:- 3, Option ID : -179

Question ID:- 46




Adolescent youth in school expect from teachers :
(1) Apathy

(2) Sympathy

(3) Empathy

(4) Emotional support

el § fReiR 9 S99 1 37981 TEd © 2

(1) ¥

(2) W

(3) wyfd

(4) HiafE gEEn
Options:-

.1, Option ID :- 181,
« 2, Option ID :- 182,
- 3, Option ID :- 183,

« 4, Option ID :- 184,
Answer Given:- 3, Option ID : -183

Question ID:- 47

Why present day youth is in distress in schools ?

(1) Addicted to mobiles

(2) They may not be getting adequate emotional suppport for home or school front
(3) Not getting recognition

(4) Harmonal imbalance

FAHE qH H el H g9 P FR H E 2

(1) Hrarse 90

(2) € Ghar & Fr 3% orqn W H =1 faenem | gata damerss g we e @i e
(3) ¢ W= TRl e W E

(4) WM FEIEA

Options:-

.1, Option ID :- 185,

« 2, Option ID :- 186,

« 3, Option ID :- 187,

« 4, Option ID :- 188,
Answer Given:- 2, Option ID : -186

Question ID:- 48




What would be the Implication if we don’t address adolescents on right time in school ?
(1) They will become stubborn.

(2) They may turn into antisocial.

(3) Their positive energy will remain unused.

(4) They will enter in wrong direction in life.

Ife Thell H € ToF X fRiR st #1 geened i o @ San € d 59T s g g 2
(1) 3 &3 @ad % & S |

(2) I SIS 9 & ®9 H 9 R F S T

(3) ST UHRIHE ol SATIYE 16 S |

(4) A& Sfte § Terd T W = TS |

Options:-

«1, Option ID :- 189,
« 2, Option ID :- 190,
« 3, Option ID :- 191,

« 4, Option ID :- 192,
Answer Given:- 3, Option ID : -191

Question ID:- 49

How Institutional support plays a major role in addressing adolscent’s needs ?
(1) Institution must take adolescence issue serious and draw plan accordingly.
(2) Adequate funds to be made available.

(3) Should plan for appointing professional experts on regular basis.

(4) Frequent dialogue with youth.

fereirraen &1 stavsasti 1 q0 # | ST Tear &1 @ "eeynl Y 8 wed € 2
(1) HeIH &1 freiaeen # geened ®1 7 gEe o =fey 3t agey A s+ =fen |
(2) uArE faferel Suersy wuE S e |

(3) Trafra ser W st faves #1 fgfE # @ a9 =it

(4) Fal § IRAR Harg = T =ife |

Options:-

.1, Option ID :- 193,
« 2, Option ID :- 194,
« 3, Option ID :- 195,

« 4, Option ID :- 196,
Answer Given:- 4, Option ID : -196

Question ID:- 50




The Bilingual Proficiency facilitates among children.
(1) Adaptation in society

(2) Cognitive growth

(3) Communicative ability

(4) Divergent thinking

Taunfues evrT % Ferasy dieehi § # Weyd B § 2

(1) ¥ H AP

(2) HIATHF faF™

(3)  FHYE E7E

(4) dafger faa
Options:-

.1, Option ID :- 197,
« 2, Option ID :- 198,
- 3, Option ID :- 199,

« 4, Option ID :- 200,
Answer Given:- 3, Option ID : -199

Question ID:- 51

Why present day teacher finds difficult to sustain interest among children in school ?
(1) Defective Curriculum

(2) Flip learning by child

(3) The distractive forces outweigh the teaching methods in class

(4) Children are undermotivated

T Uy § AeA9s F Thel & s 8 ¢ Afefe’ 1 e 99 wen d i wfed ad 72
(1) 3ol seg=a

(2) % 3R #2% H F9 sfm

(3) e ¥ ayeamas fafy & swien favemar a@ sifus yee & o §)

(4) e H ST TSR € |

Options:-

.1, Option ID :- 201,
« 2, Option ID :- 202,
« 3, Option ID :- 203,

« 4, Option ID :- 204,
Answer Given:- 3, Option ID : -203

Question ID:- 52




How to deal with ‘Juvenile delinquency’ in school ?

(1) By creating awareness

(2) By extending moral and emotional support to the child
(3) Through co-curricular activities

(4) Through medical help

oo ® ‘forgin sTaue’ | 9 fger o g §2
(1) SFfd 3e= %

(2) T i A R At TEEn

(3) ureTEEHl s & wea |

(4) fafecda gemar & Jieam 4§

Options:-

.1, Option ID :- 205,
« 2, Option ID :- 206,
- 3, Option ID :- 207,

« 4, Option ID :- 208,
Answer Given:- 2, Option ID : -206

Question ID:- 53

How can you ensure moral values among children ?

(1) Through integration of values with regular subjects
(2) Seperate moral periods

(3) Story telling method

(4) Lecture method

i arerent § Afas goa F4 gifvea w5 g €2

(1) frafad ®9 | dem H a1 fawdi % |0 qei % THhiE % aeAE |
(2) Afaw foen =+ foau sem § diftre fuffa

(3) & arEA fafy

(4) = fafy

Options:-

.1, Option ID :- 209,

« 2, Option ID :- 210,

« 3, Option ID :- 211,

« 4, Option ID :- 212,
Answer Given:- 1, Option ID : -209

Question ID:- 54




The school leader must encourage :

(1) Students to participate in school programme
(2) Teacher's Autonomy in class room

(3) Parents to attend school activities

(4) To open Book shops in school

Tormer & a1 @1 Freifed § 9 f8 diearfed e =iy ?
(1) faenferdi =t wFa & wriwg § vriierd

(2) &N H ITANE I WHET

(3) wa-fudl 1 whe i nfafafedi d am o

(4) TFpel § gEIh I gH Giel

Options:-

.1, Option ID :- 213,
« 2, Option ID :- 214,
- 3, Option ID :- 215,

« 4, Option ID :- 216,
Answer Given:- 1, Option ID : -213

Question ID:- 55

The following is not a community activity in school education :
(1) Red Cross

(2) NSS

(3) Pienic

(4) Village survey

freifera § § @ el foen & wefaes e 78 82

(1) THE

(2) TiTHUH

(3) fusfas

(4) TTH-FA
Options:-

.1, Option ID :- 217,
« 2, Option ID :- 218,
« 3, Option ID :- 219,

« 4, Option ID :- 220,
Answer Given:- 2, Option ID : -218

Subject : UTL_Q56-Q70_PRT21FEBSH2

Question ID:- 56




What is the essential feature of Good Time table in school ?
(1) Rigidity

(2) Leisure time

(3)  Flexibility

(4) Recreation

el H 379 THY GO H A e favea 82

(1) 3
(2) AT FH HHA
(3) Tt
(4) HARSH
Options:-

«1, Option ID :- 221,
« 2, Option ID :- 222,
« 3, Option ID :- 223,

. 4, Option ID :- 224,
Answer Given:- 2, Option ID : -222

Question ID:- 57

What could be the best method to improve school function ?
(1) Taking regular feadback from all stakeholders

(2) By giving wide publicity

(3) Low fee and subsidised books

(4) Feed back from teachers

forammer & s § guR @ %I garod fafy 2 8 g € 2
(1) =ft feqermant & wfagfe o=

(2) A9 ER HE

(3) A Yok SR TSHREA W G

(4) el | wfg gfe o

Options:-

.1, Option ID :- 225,
« 2, Option ID :- 226,
« 3, Option ID :- 227,

« 4, Option ID :- 228,
Answer Given:- 1, Option ID : -225

Question ID:- 58




The main purpose of school supervision is :

(1)  Fault finding

(2) To help and encourage the staff and students
(3) To direct for excellent academic performance
(4) To suggest non - monetary benefits to staff

el JAAET 1 Y& TASE ©

(1) foarasm

(2) =T iR faenfeal 1 wemd e 3R 3% Weted H
(3) SoFe srfhs ufom ¥ foae fdw 3

(4) wHHFIE Fl S-vifes wgfayrd gam

Options:-

.1, Option ID :- 229,
« 2, Option ID :- 230,
« 3, Option ID :- 231,

« 4, Option ID :- 232,
Answer Given:- 2, Option ID : -230

Question ID:- 59

What is the significance of year plan in school ?
(1) To control staff

(2) To supervise activities

(3) To organise all activities in orderly manner
(4) To complete the syllabus on time

el B arfies ATsr i o HedEal § 2
(1) wH=ifEl = ffa s
(2) ifafaferd s adasm
(3) u¥i nfafafed] w1 =xafeT o gar sEsH
(4) EHT Y YISTERH gU HA
Options:-
.1, Option ID :- 233,
« 2, Option ID :- 234,

« 3, Option ID :- 235,

« 4, Option ID :- 236,
Answer Given:- 3, Option ID : -235

Question ID:- 60




The ideal lesson plan should have :

(1) Number of students in classroom
(2) Details of Teaching Aids

(3) Estimated time for questions

(4) Well defined learning outcomes

7Yl 9IS AR | B e
(1) en o faenfei =61 gen
(2) A=A HEA/3YE &1 A

(3) 9w H yBA & for srmtE @
(4) g-uftwfug st gftom

Options:-

«1, Option ID :- 237,
« 2, Option ID :- 238,
« 3, Option ID :- 239,

. 4, Option ID :- 240,
Answer Given:- 4, Option ID : -240

Question ID:- 61

Which one of the following could be the Powerful Socialising Agency ?
(1) Media

(2) School

(3) Home

(4) Library

for=tifera & | =31 QIETSIERTU %1 Yool HIE9H B Hehdl & 2

(1) wifean

(2) *pd

3 T

(4) YHhH
Options:-

.1, Option ID :- 241,
« 2, Option ID :- 242,
« 3, Option ID :- 243,

« 4, Option ID :- 244,
Answer Given:- 3, Option ID : -243

Question ID:- 62




“Thinking Process” is associated with :
(1) Affective domain

(2) Cognitivism

(3) Psychomotor domain

(4) Emotional domain

‘fea wferan’ feifera o & fored greafda 22
(1) wEATE &5

(2) HIFER

(3) wAfaS 95
(4) HoaTeHS A
Options:-

.1, Option ID :- 245,
« 2, Option ID :- 246,
- 3, Option ID :- 247,

« 4, Option ID :- 248,
Answer Given:- 2, Option ID : -246

Question ID:- 63

"Environment’ is associated with :
(1) Behaviorism

(2) Naturalism

(3) Connectivism

(4) Realism

“gfgy’ frifed § 9 frad geag @a 82

(1) =T9ER AR’
(2) Wl
(3) HHFER
(4) FefarE
Options:-

.1, Option ID :- 249,
« 2, Option ID :- 250,
« 3, Option ID :- 251,

« 4, Option ID :- 252,
Answer Given:- 1, Option ID : -249

Question ID:- 64




Use of ICT tools in class room enhances :
(1) Monotony

(2) Dependancy on Technology

(3) Retention of learning

(4) Interest in learning

Feql § Yol SR HAR yrEfnt & wam 9 freifea § | fede dagd 2 e ?
(1) weid

(2) wrenfreRt o fAsfa

(3) sferTy = gfdemo

(4) oiform | Bfa

Options:-

.1, Option ID :- 253,
« 2, Option ID :- 254,
« 3, Option ID :- 255,

« 4, Option ID :- 256,
Answer Given:- 4, Option ID : -256

Question ID:- 65

Give one example of Community as learning resource for school children :
(1) Parents forum

(2) Employees union

(3) Local post office

(4) Cinema hall

Thell areren] & o siferm SEeE Y %1 U 39 R
(1) sfysmEs °99

(2) wHH=E He

(3) TUFE S

(4) famm e
Options:-

.1, Option ID :- 257,
« 2, Option ID :- 258,
« 3, Option ID :- 259,

« 4, Option ID :- 260,
Answer Given:- 3, Option ID : -259

Question ID:- 66




How can we improve teaching - learning process in schools ?
(1) Regular conduct of Training Programmes for teachers
(2) Through Incentives to teachers

(3) Regular supervision

(4) Better classroom conditions

el ¥ et siferms wehe | foR wR guR o s a2

(1) @oAe & foe Frafua ¥9 9 ufoem e & Fafra 99em #5365 )
(2) SAEATYH] I HieaTe T S|

(3) Frafaa wdasgo & meag 1)

(4) & HEH FHI AFH TAWH|

Options:-

.1, Option ID :- 261,
« 2, Option ID :- 262,
- 3, Option ID :- 263,

« 4, Option ID :- 264,
Answer Given:- 1, Option ID : -261

Question ID:- 67

‘Learning by doing’ falls under :
(1) Assessment learning

(2) Constructive learning

(3) Experimental learning

(4) Behaviouristic learning

‘o dra’ Freifed 8 9 faes siarta s g2
(1) 3mher e
(2) TEIHE HfH

(3) wrEMTE wfEH
(4) SHATERETE e
Options:-

.1, Option ID :- 265,
« 2, Option ID :- 266,
« 3, Option ID :- 267,

« 4, Option ID :- 268,
Answer Given:- 3, Option ID : -267

Question ID:- 68




What is T L M in school edx

whell foen # 4 e wn o sAfium fred 22
(1) i - affn - wefae

(2) fEn - affn- faesm

(3) S - AfT - Hrg

(4) ifEm - @ - faem

Options:-

.1, Option ID :- 269,

« 2, Option ID :- 270,

. 3, Option ID :- 271,

. 4, Option ID :- 272,
Answer Given:- 1, Option ID : -269

Question ID:- 69

The purpose of classroom observation is :
(1) To evaluate teacher’s performance
(2) To improve teaching and learning
(3) To measure learning levels

(4) To fulfil administrative requirement

el el T YaI0 T WA T

(1) 31EATGHRI F FHEAIREA F e
(2) @A iR Sfe § gur |
(3) sIferT F TRl A A

(4) vrEfeR e gU

Options:-

.1, Option ID :- 273,
« 2, Option ID :- 274,
« 3, Option ID :- 275,

« 4, Option ID :- 276,
Answer Given:- 2, Option ID : -274

Question ID:- 70




The punishment given to the child in school, should be :
(1) Retributive

(2) Reformatory

(3) Offensive

(4) Exemplary

Torer # wrerss =1 fean = gve Em =t
(1) ufderreds

(2) HUUEH

(3) HTHMEF

(4) TR
Options:-

.1, Option ID :- 277,
« 2, Option ID :- 278,
- 3, Option ID :- 279,

« 4, Option ID :- 280,
Answer Given:- 2, Option ID : -278

Subject : CCLE_Q71-Q80_PRT21FEBSH2

Question ID:- 71

How should Principal ensure good mental health among Teachers ?
Through :

(1) regular health checkup.

(2) regular interaction with teaching on personal problems.

(3) attending health workshops.

(4) by medical counselling.

= 1 S ekl 1 3T A W F9 gifea s e ?

(1) Trafog wwer s % meam 91

(2) AT i SAfads geensl F an § 379 Fafaa aeterd & e F)
(3) e HeHl wrEensd | 9 |t |

(4) TafFada W % 9y 9|

Options:-

.1, Option ID :- 281,
« 2, Option ID :- 282,
« 3, Option ID :- 283,

- 4, Option ID :- 284,
Answer Given:- 2, Option ID : -282

Question ID:- 72




Who has to take leading role in addressing mental health issues in school system ?
(1) NGO

(2) Society
(3) Home
(4) School

Tholl SHaw H HHias @R Had guens & fane | fr=itea § 3 5 endt iy = fafe w0
a2
(1) TR S E§ea (U S el

(2) wES

(3) T

(4)
Options:-

.1, Option ID :- 285,
« 2, Option ID :- 286,
« 3, Option ID :- 287,

. 4, Option ID :- 288,
Answer Given:- 2, Option ID : -286

Question ID:- 73

What is the major challenge in schools to address mental health issues ?
(1) Undermotivated parents

(2) Refuse to seek Guidance
(3) Non-availability of Professional experts in school
(4) Lack of awareness

qHfaF TR as geest & femo | famerEt w6 98 g #n e ?
(1) sfu-ufa sifyvees
(2) HFEYA W T Hi SFEHd
(3) Ta d AEEias fa¥eEl S sversm
(4) SNTEHA F AYE
Options:-
.1, Option ID :- 289,
« 2, Option ID :- 290,

« 3, Option ID :- 291,

. 4, Option ID :- 292,
Answer Given:- 4, Option ID : -292

Question ID:- 74




Which Act provides, Equality and Full participation to Divyangjan :
(1) PWD Act 1995
(2) PWD Act 2016
(3) PWD Act 1998
(49 RWD Act 2000

forg rfufrem o feeaimsm =t T oiit qol swefied =1 sway fm o 72
(1) fe=am =afs sfuf=m, 1995
(2) Te=am =afd sfufam, 2016
(3) fe=aim =afam sifufram, 1998
(4) fesam =afam sifuf=m, 2000

Options:-

.1, Option ID :- 293,
« 2, Option ID :- 294,
- 3, Option ID :- 295,

« 4, Option ID :- 296,
Answer Given:- 2, Option ID : -294

Question ID:- 75

T Q M (Total Quality Management) focusses on :

(1) Output
(2) Input
(3) Tools

(4) Process

Tof TurE yauE (2 g uH) ¥ fRe 9@ 1 ad fem g2
(1) fwm

(2) SEH

(3) SR

(4) wfsEan
Options:-

.1, Option ID :- 297,
« 2, Option ID :- 298,
« 3, Option ID :- 299,

« 4, Option ID :- 300,
Answer Given:- 1, Option ID : -297

Question ID:- 76




‘Inclusive Education” mainly associated with :
(1) Rural children

(2) Marginalised ground

(3) Divyangjan

(4) Minorities

‘Tl foen’ gere: fEed dag @2
(1) Wi 43 F aers
(2) @IferT = gRyfe ¥ oH e awees
(3) fe=aisA
(4) FFeTHEIE
Options:-
.1, Option ID :- 301,
« 2, Option ID :- 302,
- 3, Option ID :- 303,

« 4, Option ID :- 304,
Answer Given:- 3, Option ID : -303

Question ID:- 77

What is ‘Hidden Curriculum’ in school education ?
(1) The values are taught beyond syllabus and curriculum.

(2) Curriculum transacted during leisure period.
(3) Curriculum is left out due to paucity of time.

(4) Curriculum not emphasized for exams.

el foven § a2 argg=at’ #n g ?

(1) 92Ty 3R Tea=d ¥ W e #1 e
(2) @EH & Wiere § wgeE wgEEE

(3) HHATIE % HI WHEA TEl g3 WS FIA
(4) ThEnE % fere SR S SHare qeEEa

Options:-

.1, Option ID :- 305,
« 2, Option ID :- 306,
« 3, Option ID :- 307,

« 4, Option ID :- 308,
Answer Given:- 1, Option ID : -305

Question ID:- 78




Apart from regular teachers in school, who will play crucial role in Development of the child ?
(1) Professional Counseller

(2) Principal

(3) Parent

(4) School Nurse

et 4 Tafid stenaen & e s o T o forment forfren gfee 2t 2
(1) SAEEITE e

(2) e
(3) wE-faan
(4) %o
Options:-

.1, Option ID :- 309,
« 2, Option ID :- 310,
- 3, Option ID :- 311,

« 4, Option ID :- 312,
Answer Given:- 2, Option ID : -310

Question ID:- 79

What is the minimum Percentage of disability to avail benefits from Governments for
Divyangjan ?

(1) 25%
2) 35%
(3) 40%
(4) 50%

feeaimerl  fou wveR g € S gt ygfamst 1 o o % fau s 29 F faftm =geew e
yfaer fesaiman (. veean) 8 =nfew 2

(1) 25%
(2) 35%
(3) 40%
(4 50%
Options:-

.1, Option ID :- 313,
« 2, Option ID :- 314,
« 3, Option ID :- 315,

« 4, Option ID :- 316,
Answer Given:- 3, Option ID : -315

Question ID:- B0




What is ‘Dyspraxia” in learning ?

(1) Inability to see blackboard

(2) Inability to hold muscle control
(3) Inability to learn

(4) Inability to recognize Numbers

sfepmm H fegifean' 4 71 sifida €2
(1) =AHaTE T@H FHl AT
(2) el = fEm | wEa 5 s
(3)  @AferT =t sar
(4) Hens # UEEE Sl AFHd
Options:-
.1, Option ID :- 317,
« 2, Option ID :- 318,
- 3, Option ID :- 319,

« 4, Option ID :- 320,
Answer Given:- 3, Option ID : -319

Subject : SOL_Q81-Q90_PRT21FEBSH2

Question ID:- 81

What is advantage of pairing two neighbourhood Schools ?

(1) Organizing Tournaments
(2) Conducting Seminars

(3) Exchange of resources and knowledge

(4) Sharing finance

TS % Shel H qTHA 1 A1 2 2
(1) A 1 SEEE

(2) AR swEifaa &
(3) HarEl SR 7 1 fafa
(4) fa= =1 wrEer

Options:-

.1, Option ID :- 321,
- 2, Option ID :- 322,
« 3, Option ID :- 323,

« 4, Option ID :- 324,
Answer Given:- 3, Option ID : -323

Question ID:- 82




Which type of leadership style suits to School System?

(1)  Authoritative leadership

(2) Pece setter leadership

(3) Transformational leadership
(4) Coaching leadership

el Jel | SYgE Hged Sl ©
(1) wEwEwR g

(2) I FRTTE g

(3) EUMUER g

(4) fET g

Options:-

.1, Option ID :- 325,
« 2, Option ID :- 326,
- 3, Option ID :- 327,

« 4, Option ID :- 328,
Answer Given:- 3, Option ID : -327

Question ID:- 83

The School leader should have
(1) Interest

(2) Concentration

(3) Co-operation

(4) Vision
el H GYR @ % fau whd & Aa1 |
(1) ¥4
(2) TR
(3) HEEm
(4 3=
Options:-

.1, Option ID :- 329,
« 2, Option ID :- 330,
« 3, Option ID :- 331,

« 4, Option ID :- 332,
Answer Given:- 4, Option ID : -332

to improve the school.

2 =nfe )

Question ID:- B4




What would you expect from ‘Morning Assembly’ in schools ?
(1) Promote discipline among children

(2) The Students will develop social values

(3) Part of time table

(4) Tunes day’s program

el § 9 U e ST | A e il ?
(1) =TTl § 9 1 ageE o

(2) faenfei & wrfsmr gea famfaa gm

(3) 99 difershl 1 9

(4) & wwElwHd § aeda Sem

Options:-

.1, Option ID :- 333,

« 2, Option ID :- 334,

- 3, Option ID :- 335,

« 4, Option ID :- 336,
Answer Given:- 2, Option ID : -334

Question ID:- 85

Who could be the key person to develop Schools?

(1)  School Principal

(2) Physical Education Teacher who maintains discipline
(3) Teachers

(4) Management

el % fasm & fou yie =4fea & gal # -

(1) TFa & y=d
(2) wrifies foen foreres S SRR 91T TEd €
(3) SAPITH
(4) YA
Options:-

.1, Option ID :- 337,
« 2, Option ID :- 338,
« 3, Option ID :- 339,

« 4, Option ID :- 340,
Answer Given:- 1, Option ID : -337

Question ID:- B6




School Development Plan aims at :

(1) Promoting Sports Education

(2) All round development of School
(3) Academic excellence

(4) Acquisition of assets

whel fashe e 1 e ¥
(1) @a o =1 =g &
(2) TF F gafi faew
(3) THIEfHeh Iepvedl

(4) ufeeufeEi 1 s

Options:-

.1, Option ID :- 341,
« 2, Option ID :- 342,
- 3, Option ID :- 343,

« 4, Option ID :- 344,
Answer Given:- 2, Option ID : -342

Question ID:- 87

What is the essential feature of Curriculum ?
(1) Challenging

(2) Relevance

(3) Budget

(4) Scope in A-V-aids

rggaA Fit AfFard fadem e g2
(1) ATy

(2)

(3) W

(4) F°4-S¥9 IUFKLUN ! T[S

Options:-

.1, Option ID :- 345,
« 2, Option ID :- 346,
« 3, Option ID :- 347,

« 4, Option ID :- 348,
Answer Given:- 2, Option ID : -346

Question ID:- B8




Which one of the following is Curricular Component ?
(1) Garden

(2) Play field

(3) Art room

(4) Math’s club

feifera & & @ WA= 1 U © 2
(1) TmEA
(2) @a F HEH
(3) el FE
(4) TIford e
Options:-

.1, Option ID :- 349,
« 2, Option ID :- 350,
- 3, Option ID :- 351,

« 4, Option ID :- 352,
Answer Given:- 2, Option ID : -350

Question ID:- 89

Who will bridge School Community path ?
(1) Parents

(2) Management

(3) Students

(4) Teachers

W 3R 9qg@ & &g ' Hg 1 e i S 2
(1) sifysress (Ao

(2) wEEH

(3) ferenefi

(4) ATYH
Options:-

.1, Option ID :- 353,
« 2, Option ID :- 354,
« 3, Option ID :- 355,

« 4, Option ID :- 356,
Answer Given:- 1, Option ID : -353

Question ID:- 90




When was Radhakrishnan Commission appointed ?

(1) 1952
(2) 1948
(3) 1958
4) 1964

THFDH SIS 1 TSH Fa fhar 721 =12

(1) 1952
(2) 1948
(3) 1958
(4) 1964

Options:-

.1, Option ID :- 357,
- 2, Option ID :- 358,
« 3, Option ID :- 359,

« 4, Option ID :- 360,
Answer Given:- 2, Option ID ; -358

Subject : PE_Q91-Q100_PRT21FEBSH2
Question ID:- 91

NEP - 2020 proposed to achieve Foundational literacy and Numeracy in Primary schools by :
(1) 2030

(2) 2035
(3) 2040
(4 2025

it foren Afifa 2020 § fog ad 9% mafae faamerdl § gf@EE @R S S@EE &1 @@ 9w H
e fem T g 2

(1) 2030
(2) 2035
(3) 2040
(4) 2025
Options:-

.1, Option ID :- 361,
« 2, Option ID :- 362,
- 3, Option ID :- 363,

« 4, Option ID :- 364,
Answer Given:- 4, Option ID : -364

Question ID:- 92




NCF - 2005 focuses on :

(1) Promoting sports education
(2) Promoting girls education

(3) Learning without burden

(4) Promoting primary education

T rSa=Al w90, (T 9 uw) 2005 § e § 9 e waw tm e g2
(1) @ e =1 sgE

(2) aferar fosn =i s@rmEn

(3) == ed sferm

(4) wfae foan = agrE

Options:-

«1, Option ID :- 365,
« 2, Option ID :- 366,
- 3, Option ID :- 367,

« 4, Option ID :- 368,
Answer Given:- 1, Option ID : -365

Question ID:- 93

The PTR ratio prescribed as per NEP - 2020 in areas of socio - economically disadvantaged
population is :

(1) 35:1
2 25:1
(3 30:1
(4 40:1

T foan +ifq, 2020 % AR wEISE fds ¥ § Iufaa sSHEen 9 & § i fre-fogs
W(ﬁé}m)%:

(1) 35:1
(2 25:1
() @30:1
(4) 40:1
Options:-

.1, Option ID :- 369,
« 2, Option ID :- 370,
« 3, Option ID :- 371,

« 4, Option ID :- 372,
Answer Given:- 1, Option ID : -369

Question ID:- 94




According to NEP 2020, which one of these is given top priority in primary education ?
(1) Universalisation of elementary education

(2) Free uniform up to Class V

(3) To achieve Foundational Literacy and Numeracy

(4) To develope communication skill

T foven +ifa, 2020 % AR, Wi fen § fr=ifea § | 5 gdf=s mafowa & w 82
(1) 9rfve faan =1 g s

(2) iedl Fan a fr:yes i
(3) SIS WeRd SR HEAEH 1 AL U HE
(4) HU0 e fasmfaa e

Options:-

.1, Option ID :- 373,
« 2, Option ID :- 374,
- 3, Option ID :- 375,

« 4, Option ID :- 376,
Answer Given:- 3, Option ID : -375

Question ID:- 95

NEP - 2020 prescribes new curriculum design as :
(1) 5+3+3+4

(2) 10+2+3

(3) 6+3+2+3

(4) 5+3+4+4

gty fonen =ifa, 2020 § Fr=vifera 9 & fg w9 9 72 el @1 sifveeey fafea fem mn 22
(1) 5+3+3+4

(2)  10+2+3

(3) 6+3+2+3

(4) 5+3+4+4

Options:-

.1, Option ID :- 377,
« 2, Option ID :- 378,
« 3, Option ID :- 379,

. 4, Option ID :- 380,
Answer Given:- 1, Option ID : -377

Question ID:- 96




Name the comittee which suggested hassle free admission into school :
(1) Sargent

(2) Hunter
(3) Woods DESPATCH
(4) Hartog

Frifera & & for wfufa 5 =pa o faia vow =1 gem fem an?
(1) ¥

(2) BX

(3) @ feds
(4) TEM
Options:-

.1, Option ID :- 381,
« 2, Option ID :- 382,
- 3, Option ID :- 383,

« 4, Option ID :- 384,
Answer Given:- 4, Option ID : -384

Question ID:- 97

RTE Act 2009 prescribes :

(1) No detention upto V class

(2) No Fee upto VIII class

(3) No detention upto VIII class

(4) Free uniform and text books upto VI class

forer a1 afuepr stfufm, 2000 & Feifera § | = Susy foren 1 82
(1) Ti=El e T HIE Wiiai 72 |

) el s qe e faen (1w 7E)

(3) SISl HeEN T B WA T |

(4) B Fa0 q%F F.YeF IFEH AR TSATEE

Options:-

.1, Option ID :- 385,
« 2, Option ID :- 386,
« 3, Option ID :- 387,

« 4, Option ID :- 388,
Answer Given:- 3, Option ID : -387

Question ID:- 98




NCF - 2005 mainly focussed on :
(1) Teacher centred

(2) Use of ICT in classroom
(3) Yoga Education

(4) Child - centred Learning

T U=l w9l | ged: fhe 1 ae fem 2
(1) S=ATF *Higd

(2) & H A SR W] TG

(3) Am faan

(4) SEH-Hfzd A

Options:-

.1, Option ID :- 389,
« 2, Option ID :- 390,
- 3, Option ID :- 391,

« 4, Option ID :- 392,
Answer Given:- 4, Option ID : -392

Question ID:- 99

Who prepared NCF - 2005 ?

(1) MOE
(2) NCERT
(3) CBSE
4) KVS

L U= T4 (TF 91 UH) 2005 e g/ 99RO ?
(1) foEn g™

(2) ey dfern sHEE SR wfeor ufteg (wA Ht § R )
(3) = wreAtaE e are (6 &t ww g)

(4) wH= formem Smed (& 4 TH)

Options:-

.1, Option ID :- 393,
« 2, Option ID :- 394,
« 3, Option ID :- 395,

« 4, Option ID :- 396,
Answer Given:- 2, Option ID : -394

Question ID:- 100




What do you mean by ‘Competency based Teaching’ in classroom ?

(1)  Activity based teaching

(2) Attainment of minimum levels of competency in given subject by the children
(3) Shift from rote learning to self learning

(4) Teacher centred approach

eyl | ‘gar smenfia e’ § sem w0 sy § 2
(1) wPwa snafia e

(2) e 1 fae fagme § & & FAad R Wi
(3) @A At | - | sfa

(4) H=ATE hf=d UTH

Options:-

.1, Option ID :- 397,
« 2, Option ID :- 398,
- 3, Option ID :- 399,

« 4, Option ID :- 400,
Answer Given:- 2, Option ID : -398

Subject : HINDI_Q101-Q120_PRT21FEBSH2

Question ID:- 101

frefafaa § 4 s=mm #1 gfe § s 749 §

(1) 7-3A
(2) W -
(3 F-79¥A
(4 9 -\
Options:-

.1, Option ID :- 401,
« 2, Option ID :- 402,
« 3, Option ID :- 403,

« 4, Option ID :- 404,
Answer Given:- 3, Option ID : -403

Question ID:- 102

Freafafes § 4 ‘g’ #i gfe | s/ g 2
(1) @t - Sfder=e

(2) HRE - WEaES

(3) AU - SAfedaraH

(4) o - STfqETS

Options:-




«1, Option ID :- 405,
« 2, Option ID :- 406,
« 3, Option ID :- 407,

. 4, Option ID :- 408,
Answer Given:- 4, Option ID : -408

Question ID:- 103
frfafad § e fagmm €
(A) el SEH 39 SR Hifdw 1
(B) g At e ws S ¥
(C) 3% 3BT ASHI ¢ |
(D) W 9/ %Y 3U g8 2
(E) 48 WehH @€l B
== fau T faesedi § @@ 3@ g -
(1) (A), (B) 3R (D)
(2) (B), (C) ¥R (D)
(3 (O, (D) ¥R (B)
(4)  (A), (B) 3R (C)
Options:-
.1, Option ID :- 409,
« 2, Option ID :- 410,

. 3, Option ID :- 411,

« 4, Option ID :- 412,
Answer Given:- 4, Option ID : -412

Question ID:- 104
Freafafad & ‘sga=’ =1 gfe J sEm 9§
(1) 9l - Jed

(2) 2redt - 2ifeEt

(3) HYHERGE - weHfRgAl
(4) -

Options:-

.1, Option ID :- 413,
« 2, Option ID :- 414,
« 3, Option ID :- 415,

« 4, Option ID :- 416,
Answer Given:- 4, Option ID : -416

Question ID:- 105




frfafaa ¥ s gm € -
(1) 5,995 - 9f= &R =1 | fuama
(2) 98,789 - 1Z3HA TSR Hd W I
(3) 98,798 - 31ZSMA TR 9@ HI TS
(4) 59,979 - ITHS TR Al Gl IAH
Options:-
.1, Option ID :- 417,
. 2, Option ID :- 418,
« 3, Option ID :- 419,

« 4, Option ID :- 420,
Answer Given:- 2, Option ID : -418

Question ID:- 106

BECLIN AR U & AW H 1R ¢
(1) fa+x

(2) WX

(3) qA+T

(4) qA+Y

Options:-

.1, Option ID :- 421,
« 2, Option ID :- 422,
« 3, Option ID :- 423,

« 4, Option ID :- 424,
Answer Given:- 3, Option ID : -423

Question ID:- 107

frefafas § ' wafbaEt’ v i gie | 95 gm
(1) & - Ss, 79, Jig

(2) @t - T, g, Ed

(3) = - U, fahae, st

(4) T - e, T

Options:-

«1, Option ID :- 425,
« 2, Option ID :- 426,
« 3, Option ID :- 427,

- 4, Option ID :- 428,
Answer Given:- 2, Option ID : -426

Question ID:- 108




Frefafea & ‘facim’ weg #i gfe & s gm € .
(1) =Fsal - Akl
(2) Sifed - W
(3) it - Hg

(4) 9 - =dd

Options:-

.1, Option ID :- 429,
« 2, Option ID :- 430,
« 3, Option ID :- 431,

« 4, Option ID :- 432,
Answer Given:- 1, Option ID : -429

Question ID:- 109

Freafafad d wedam #it gfe J s6ma g & -
() # - TevarH

(2) M - YEEES

(3) 48 - Feage=s

(4) T - GEY GEF

Options:-

.1, Option ID :- 433,
« 2, Option ID :- 434,
« 3, Option ID :- 435,

« 4, Option ID :- 436,
Answer Given:- 4, Option ID : -436

Question ID:- 110

Frefafas § ‘fan’ #i gfe 3§ spma g €
(1) <iE® - wfas

(2 d&-gfem
(3) 2R - AHR
(4) e - S
Options:-

«1, Option ID :- 437,
« 2, Option ID :- 438,
« 3, Option ID :- 439,

- 4, Option ID :- 440,
Answer Given:- 3, Option ID : -439

Question ID:- 111




‘qerel W SEd Al Bl ¢ Aer o wEifhd we H fagr €
(1) G fagmo

(2) ToETEE fadmm

(3) ufmmEEE favmm

(4) HeaEEs faem
Options:-

.1, Option ID :- 441,
« 2, Option ID :- 442,
« 3, Option ID :- 443,

« 4, Option ID :- 444,
Answer Given:- 3, Option ID : -443

Question ID:- 112

e e Y gfe @ ST A

(1) W& 3 @I & - sl weh

(2) T A fa | 9o feran - @R wRE
(3) EAHl Wl EH < 8 - A S
(4) =9 9 HEA 0 - FH FRE

Options:-

.1, Option ID :- 445,
« 2, Option ID :- 446,
« 3, Option ID :- 447,

« 4, Option ID :- 448,
Answer Given:- 4, Option ID : -448

Question ID:- 113

Frfafaa d Sifem s ¢ -
(1) =R

(2 =g

(3) Hem

(4) S
Options:-

«1, Option ID :- 449,
« 2, Option ID :- 450,
« 3, Option ID :- 451,

- 4, Option ID :- 452,
Answer Given:- 2, Option ID : -450

Question ID:- 114




feofer ure e w1 ‘fosd =1 wen’ e = dfe g G o e SR Sl § 5o W # Cua v
FAGE :

(1) e, o

(2) S, I

(3) W, =@

(4) s, 3 fawr

Options:-

.1, Option ID :- 453,
« 2, Option ID :- 454,
« 3, Option ID :- 455,

- 4, Option ID :- 456,
Answer Given:- 2, Option ID : -454

Question ID:- 115

‘frafem’ g & 8 ' SE) 9 98 U8 % SR W FaEy 5 Sl = @6 ue o am ad 82
(1) el = T 1 of

(2) STl =AEd 2t el U o Hehdl @

(3) T A i wic=sn @ Al s &6t wiftd &1 # S g

(4) WSt % mifers

Options:-
.1, Option ID :- 457,

« 2, Option ID :-
:- 459,

« 4, Option ID :-
:- 3, Option ID : -459

« 3, Option ID

Answer Given

458,

460,

Question ID:- 116

‘Tafem s 2" UeE T & CTeEE R Ue & YR W Faret 5 g5 98 # fee 9a g st T ?

e A 3 TRl o Ay et <5l o IS e HI aHehl &1 o |

(1) &1 9gd =reileh 41
(2) @l dgd <@ Ul
(3) & A &sh o 9 H Fe foar e
(4)
Options:-

«1, Option ID :- 461,

« 2, Option ID :-
« 3, Option ID :-

« 4, Option ID :-
Answer Given:- 4, Option ID : -464

462,
463,
464,

Question ID:- 117




‘IME F T TS F UR W Fa2C 5 S TR T A9H 92 &) Ugel 9 el 1 S o1 2
(1) @ *t T aH % fom

(2) 92 F 9 Fean & fau

(3) €S % dr @M % fem

(4) WS % i HeaH F fau

Options:-

.1, Option ID :- 465,
« 2, Option ID :- 466,
« 3, Option ID :- 467,

« 4, Option ID :- 468,
Answer Given:- 3, Option ID : -467

Question ID:- 118

‘e, @i sl farefa’ ‘ fafas’ aea g % e e | dHafya €2
(1) =A== o
(2) SIE1 HaTd 99 SETE

(3) SFA
(4) T I O
Options:-

.1, Option ID :- 469,
« 2, Option ID :- 470,
« 3, Option ID :- 471,

« 4, Option ID :- 472,
Answer Given:- 4, Option ID : -472

Question ID:- 119

Frafafea § 'fF ST S oo T8 7

(1) fF=
(2 fasfa
(3) fTrae
(4) faaw
Options:-

«1, Option ID :- 473,
« 2, Option ID :- 474,
« 3, Option ID :- 475,

- 4, Option ID :- 476,
Answer Given:- 1, Option ID : -473

Question ID:- 120




‘g 1 ufen FE ' 9e F uR W Ay fF o 3w ersErie s5aen i #d © 2
(1) 39! 9T & HRT
(2) fean FHEl & HRo

(3) a1 % T |WIE F FR
(4) aER | kel YHA & HR

Options:-

.1, Option ID :- 477,
« 2, Option ID :- 478,
« 3, Option ID :- 479,

« 4, Option ID :- 480,
Answer Given:- 2, Option ID : -478

Subject : ENGLISH_Q121-Q140_PRT21FEBSH2
Question ID:- 121

Read the passage given below and answer the question that follow :
Thanappa said, “One moment, sir. I have a confession to make. See the date on the card”.
“May the nineteenth, nearly fifteen days ago!”

“Yes, sir, and the telegram followed next day - that is, on the day of the marriage. I am
unhappy to see it . .. ‘But what has happened has happened,” I said to myself, and kept it away,
fearing that it might interfere with the wedding.” Ramanujam glared at the postman and said, “I
would not have cared to go through the marriage when he was dying....” The postman stood with
bowed head and mumbled, “You can complain if you like sir. They will dismiss me. Itis a serious
offence.” He turned and descended the steps and went down the streeton his rounds. Ramanujam
watched him duly for a while and shouted, “Postman!” Thanappa turned round; Ramanujam
cried, “Don’t think that [ intend to complain. I am only sorry you have done this....”

“I understand your feelings, sir,” replied the postman.

The postman delayed delivering the card as :

(1) he was a lazy person.

(2) he had misplaced the card.

(3) the card contained a bad news.

(4) the news would have disrupted the ceremony.

Options:-

.1, Option ID :- 481,
« 2, Option ID :- 482,
« 3, Option ID :- 483,

« 4, Option ID :- 484,
Answer Given:- 4, Option ID : -484

Question ID:- 122




Read the passage given below and answer the question that follow :
Thanappa said, “One moment, sir. I have a confession to make. See the date on the card”.
“May the nineteenth, nearly fifteen days ago!”

“Yes, sir, and the telegram followed next day - that is, on the day of the marriage. 1 am
unhappy to see it . .. “But what has happened has happened,’ I said to myself, and kept it away,
fearing that it might interfere with the wedding.” Ramanujam glared at the postman and said, “I
would not have cared to go through the marriage when he was dying....” The postman stood with
bowed head and mumbled, “You can complain if you like sir. They will dismiss me. Itis a serious
offence.” He turned and descended the steps and went down the street on his rounds. Ramanujam
watched him duly for a while and shouted, “Postman!” Thanappa turned round; Ramanujam
cried, “Don’t think that [ intend to complain. I am only sorry you have done this....”

“I understand your feelings, sir,” replied the postman.

Read the following statements :
(A) The postman’s action ought to be appreciated.
(B) Ramanujam should have got him punished.

(1) (A) is right and (B) is wrong,.
(2) (B)is right and (A) is wrong.
(3) Both (A) and (B) are right.

(4) Both (A) and (B) are wrong.

Options:-

.1, Option ID :- 485,
« 2, Option ID :- 486,
« 3, Option ID :- 487,

. 4, Option ID :- 488,
Answer Given:- 2, Option ID : -486

Question ID:- 123




Read the passage given below and answer the question that follow :

Thanappa said, “One moment, sir. I have a confession to make. See the date on the card”.

I”

“May the nineteenth, nearly fifteen days ago

“Yes, sir, and the telegram followed next day - that is, on the day of the marriage. T am
unhappy to see it . . . ‘But what has happened has happened,’ I said to myself, and kept it away,
fearing that it might interfere with the wedding.” Ramanujam glared at the postman and said, “I
would not have cared to go through the marriage when he was dying....” The postman stood with
bowed head and mumbled, “You can complain if you like sir. They will dismiss me. Itis a serious
offence.” He turned and descended the steps and went down the street on his rounds. Ramanujam
waftched him duly for a while and shouted, “Postman!” Thanappa turned round; Ramanujam
cried, “Don’t think that I intend to complain. I am only sorry you have done this....”

“I understand your feelings, sir,” replied the postman.

At last Ramanujam ;

(1) showed his anger for the postman.
(2) was shocked at the postman'’s act.
(3) showed his noble nature.

(4) felt extremely worried.

Options:-

.1, Option ID :- 489,
« 2, Option ID :- 490,
- 3, Option ID :- 491,

- 4, Option ID :- 492,
Answer Given:- 3, Option ID : -491

Question ID:- 124




Read the passage given below and answer the question that follow :
Thanappa said, “One moment, sir. I have a confession to make. See the date on the card”.
“May the nineteenth, nearly fifteen days ago!”

“Yes, sir, and the telegram followed next day - that is, on the day of the marriage. Iam
unhappy to see it ... ‘But what has happened has happened,’ I said to myself, and kept it away,
fearing that it might interfere with the wedding.” Ramanujam glared at the postman and said, “I
would not have cared to go through the marriage when he was dying....” The postman stood with
bowed head and mumbled, “You can complain if you like sir. They will dismiss me. Itis a serious
offence.” He turned and descended the steps and went down the street on his rounds. Ramanujam
watched him duly for a while and shouted, “Postman!” Thanappa turned round; Ramanujam
cried, “Don’t think that [ intend to complain. I am only sorry you have done this....”

“I understand your feelings, sir,” replied the postman.

Initially, the postman his action.
(1) justified.

(2) felt sorry for.

(3) felt proud of.

(4) felt sad about.

Options:-

.1, Option ID :- 493,
« 2, Option ID :- 494,
« 3, Option ID :- 495,

- 4, Option ID :- 496,
Answer Given:- 1, Option ID : -493

Question ID:- 125




Read the passage given below and answer the question that follow :
Thanappa said, “One moment, sir. I have a confession to make. See the date on the card”.
“May the nineteenth, nearly fifteen days ago!”

“Yes, sir, and the telegram followed next day - that is, on the day of the marriage. I am
unhappy to see it ... ‘But what has happened has happened,” I said to myself, and kept it away,
fearing that it might interfere with the wedding.” Ramanujam glared at the postman and said, “I
would not have cared to go through the marriage when he was dying....” The postman stood with
bowed head and mumbled, “You can complain if you like sir. They will dismiss me. Itis a serious
offence.” He turned and descended the steps and went down the street on his rounds. Ramanujam
watched him duly for a while and shouted, “Postman!” Thanappa turned round; Ramanujam
cried, “Don’t think that I intend to complain. I am only sorry you have done this....”

“I understand your feelings, sir,” replied the postman.

“T have aconfession to make.”

The underlined word means the opposite of
(1) betrayal.

(2) denial.

(3) blame.

(4) regret.
Options:-

.1, Option ID :- 497,
« 2, Option ID :- 498,
« 3, Option ID :- 499,

« 4, Option ID :- 500,
Answer Given:- 2, Option ID : -498

Question ID:- 126

Identify the part of speech of the underlined word in the following sentence.

Radio plays cover a wide range.

(1) Noun.

(2) Verb.

(3) Adjective,

(4) Adverb.
Options:-

.1, Option ID :- 501,
- 2, Option ID :- 502,
« 3, Option ID :- 503,

« 4, Option ID :- 504,
Answer Given:- 2, Option ID : -502

Question ID:- 127




Identify the part of speech of the underlined word in the following sentence.
One may talk about anything under the sun.

(1) Adjective

(2) Noun

(3) Pronoun
(4) Preposition

Options:-

.1, Option ID :- 505,
- 2, Option ID :- 506,
« 3, Option ID :- 507,

« 4, Option ID :- 508,
Answer Given:- 2, Option ID : -506

Question ID:- 128

Choose the option in which the following jumbled word/phrase have been rearranged to form
correct sentence.

(A) urgently wanted in
(B) these are

(C) our country

(D) the virtues most

(1) (©) (D) (B) (A
(2) B (D) A) €
(3) (D) (B) ©) (A
(4) (A)(B) (©) (D

e  Vma®  maa® S

Options:-

.1, Option ID :- 509,
« 2, Option ID :- 510,
« 3, Option ID :- 511,

« 4, Option ID :- 512,
Answer Given:- 2, Option ID : -510

Question ID:- 129

Choose the option in which the following jumbled word/phrase have been rearranged to form
correct sentence.

(A) of his efforts
(B) man becomes
(C) whata

(D) is the result

(1) (©) (B) (D) (A)
(2) (B (©) (A) (D)
(3) (D) A) B) ©
(4)  (A)(B) (D) ©)




Options:-

.1, Option ID :- 513,
- 2, Option ID :- 514,
« 3, Option ID :- 515,

« 4, Option ID :- 516,
Answer Given:- 1, Option ID : -513

Question ID:- 130

Choose the word nearest in meaning to the one given below :
Imperious

(1) Timid

(2) Royal

(3) Spurious

(4) Commanding

Options:-

.1, Option ID :- 517,
« 2, Option ID :- 518,
« 3, Option ID :- 519,

. 4, Option ID :- 520,
Answer Given:- 2, Option ID : -518

Question ID:- 131

Choose the word nearest in meaning to the one given below :
Enigma

(1) Difficulty
(2) Mystery
(3) Liberty
(4) Trouble

Options:-

.1, Option ID :- 521,
« 2, Option ID :- 522,
- 3, Option ID :- 523,

« 4, Option ID :- 524,
Answer Given:- 2, Option ID : -522

Question ID:- 132

Fill in the blank with appropriate preposition.

How are you getting with your boss ?
(I) on

(2) up

(3) of

(4) away

Options:-




«1, Option ID :- 525,
« 2, Option ID :- 526,
« 3, Option ID :- 527,

. 4, Option ID :- 528,
Answer Given:- 4, Option ID : -528

Question ID:- 133

Fill in the blank with appropriate preposition.

At last Navita fell all my proposals.
(1) out of

(2) in with

(3) onto

(4 upto

Options:-

.1, Option ID :- 529,
« 2, Option ID :- 530,
« 3, Option ID :- 531,

- 4, Option ID :- 532,
Answer Given:- 4, Option ID : -532

Question ID:- 134

Choose the option in which VOICE in the following sentence has been changed correctly.
He was run over by a car.

(1) A car was run over by him.

(2) A car was being run by him.

(3) A car ran over him.

(4) A car had run over him.

Options:-

.1, Option ID :- 533,
« 2, Option ID :- 534,
« 3, Option ID :- 535,

« 4, Option ID :- 536,
Answer Given:- 3, Option ID : -535

Question ID:- 135

Choose the option in which NARRATION of the following has been changed correctly.
Lata said to me, “Won't you help me now ?”

(1) Lata asked me if 1 will not help her now.

(2) Lata asked me if I would not help her then.

(3) Lata enquired of me if I would not help her then ?

(4) Lata enquired me if I will not help her then.

Options:-
.1, Option ID :- 537,
« 2, Option ID :- 538,




« 3, Option ID :- 539,

« 4, Option ID :- 540,
Answer Given:- 1, Option ID : -537

Question ID:- 136

Choose the word which means opposite of the one given below.

Subtle

(1) Evident
(2) Severe
(3) Heavenly
(4) Odd

Options:-

.1, Option ID :- 541,
- 2, Option ID :- 542,
- 3, Option ID :- 543,

« 4, Option ID :- 544,
Answer Given:- 4, Option ID : -544

Question ID:- 137

Identify the tense form of the following sentence :
I have already been to Mumbai.

(1) Simple Present

(2) Present Continuous

(3) Present Perfect

(4) Present Perfect Continuous

Options:-

.1, Option ID :- 545,
« 2, Option ID :- 546,
« 3, Option ID :- 547,

. 4, Option ID :- 548,
Answer Given:- 3, Option ID : -547

Question ID:- 138

Identify the tense form of the following sentence :
He has been sleeping since morning.

(1) Present Perfect

(2) Present Perfect Continuous

(3) Present Continuous

(4) Simple Present

Options:-

.1, Option ID :- 549,
« 2, Option ID :- 550,
« 3, Option ID :- 551,
. 4, Option ID :- 552,




Answer Given:- 2, Option ID : -550

Question ID:- 139

In the following sentence, identify the part which contain an error.

No sooner did we reach the theatre when the picture started.

(a)
(1) (a)
@ ()
@) (
4 ()

Options:-

.1, Option ID :- 553,
« 2, Option ID :- 554,
« 3, Option ID :- 555,

« 4, Option ID :- 556,
Answer Given:- 2, Option ID : -554

(b) (©)

—

(d)

Question ID:- 140

In the following sentence, identify the part which contain an error.

Idonot know where was he at that time.
(@) (b) () (d)

Options:-

.1, Option ID :- 557,
« 2, Option ID :- 558,
« 3, Option ID :- 559,

- 4, Option ID :- 560,
Answer Given:- 1, Option ID : -557

Subject : MATHS_Q141-Q160_PRT21FEBSH2

Question ID:- 141

The smallest 5-digit number which is divisible by 139 is :

(1) 10000
(2) 10131
(3) 10147
(4) 10008




U el i DR BIE W@ W 139 I 7, B

(1) 10000
(2) 10131
(3) 10147
(4 10008

Options:-

«1, Option ID :- 561,
« 2, Option ID :- 562,
« 3, Option ID :- 563,

. 4, Option ID :- 564,
Answer Given:- 4, Option ID : -564

Question ID:- 142

The difference between the largest and the smallest five digit number formed by the digits 3, 8, 7,
9and 0 is :

(1) 68051
(2) 67941
(3) 68941
(4) 37890

51 3,8,7,9 3R 0% T U SiwT An 72 | 7D 7 B A A Fen T R Y -

(1) 68051
(2) 67941
(3) 68941
(4) 37890
Options:-

.1, Option ID :- 565,
« 2, Option ID :- 566,
« 3, Option ID :- 567,

« 4, Option ID :- 568,
Answer Given:- 2, Option ID : -566

Question ID:- 143




Thesumof.l_+.l.+_1..+_1.+.l_+_51€is;

12 20 30 42

(1) %

) %

(3) %

@ =
%+%+%+3i0+é+%?ﬂ?ﬁﬂ%:
(1) %

2 g—;

(3) 2‘*—1

@ =
Options:-

.1, Option ID :- 569,
« 2, Option ID :- 570,
« 3, Option ID :- 571,

« 4, Option ID :- 572,
Answer Given:- 4, Option ID : -572

Question ID:- 144

What could come in the place of * in the following multiplication ?
(3*5) x (218) = 68670

(1 0
(2 1
@) 2

4) 3




1 ToFEe H + % W W R 91 3ie S ?
(3*5) % (218) = 68670

(1 0
(2 1
(3) 2
(4 3

Options:-

.1, Option ID :- 573,
« 2, Option ID :- 574,
- 3, Option ID :- 575,

« 4, Option ID :- 576,
Answer Given:- 2, Option ID : -574

Question ID:- 145

How many line/lines of symmetry does the figure have ?

(1)
(2)
(3)
(4)

D = =

&1 e sl B foRart Tmiha Y/ € 2

(1)
(2)
(3)
(4)
Options:-
«1, Option ID :- 577,
« 2, Option ID :- 578,
« 3, Option ID :- 579,

. 4, Option ID :- 580,
Answer Given:- 3, Option ID : -579

(o S

Question ID:- 146




One of the side face of a cuboid is a square having an area of 100 cm? and the longer edge in each
of the four rectangular faces is of length 15 cm. The area of each rectangular face (in cm?) is :

(1) 100

(2) 120
(3) 150
(4) 1500

TS FIY 1 UF U9d Felsh SR & 991 39 1 A% 100 cm? § 991 AHAHER Fed] & 92 fFHan #i
TEE 15 cm T, Woid STFATHR el 1 &% (cm2H)

(1) 100
(2) 120
(3) 150
(4 1500
Options:-

.1, Option ID :- 581,
« 2, Option ID :- 582,
« 3, Option ID :- 583,

« 4, Option ID :- 584,
Answer Given:- 3, Option ID : -583

Question ID:- 147

Which among the following cannot form a cube ?

(a) (b) (c) (d)
1) (@
(2 (b
(3) (o)
(4) (d)




= o | forgd 99 78 o931 =1 geha1 82

(a) (b) (©) (d)
(1) (a)
(2) (b
(3) ()
4 (d)
Options:-

.1, Option ID :- 585,
« 2, Option ID :- 586,
« 3, Option ID :- 587,

« 4, Option ID :- 588,
Answer Given:- 1, Option ID : -585

Question ID:- 148

Area of a rectangular hall is 108m?. If its length is 12 m, then the perimeter of hall is :
(1) 21m

(2) 24 m
(3) 30m
(4) 42m

T AFATHR 1A 1 A6 108 m2 8 | Af 5 &= 12 m 8, & &t 1 qfeqrg 2 -

(1) 21 m
(2) 24m
(3) 30m
(4) 42m
Options:-

.1, Option ID :- 589,
« 2, Option ID :- 590,
« 3, Option ID :- 591,

« 4, Option ID :- 592,
Answer Given:- 4, Option ID : -592

Question ID:- 149




Find the sum : 1-2+3-4+5-6+7—-8+ +101

(1) 48

(2) 49

(3) 50

(4) 51

1-243-445—-647-8B+ ____ _ +101 = T F T YA B T
(1) 48

() 49

(3) 50

4) 51

Options:-

.1, Option ID :- 593,
- 2, Option ID :- 594,
- 3, Option ID :- 595,

« 4, Option ID :- 596,
Answer Given:- 4, Option ID : -596

Question ID:- 150

The volume of a cube of 1 metre in litres is :
(1) 500 litres

(2) 1000 litres

(3) 1500 litres

(4) 2000 litres

T T2 F F o9 & 3aq (e #) &

(1) 500 faex
(2) 1000 ferex
(3) 1500 ferzx

(4) 2000 fer=x

Options:-

«1, Option ID :- 597,
« 2, Option ID :- 598,
« 3, Option ID :- 599,

. 4, Option ID :- 600,
Answer Given:- 2, Option ID : -598

Question ID:- 151




The perimeter of a rectangular plot is 70 m. If the length of the plot is 20 m, then the area of the
plot is :

(1) 1400 Sq metre

(2) 400 Sq metre

(3) 300 Sq metre

(4) 250 Sq metre

U HAAERR i 1 9fEg 70 Hiet &1 afg wie %1 o 20 Hiew € 6 @i & 99 €

(1) 1400 & HX

(2) 400 37 HiX

(3) 300 = Hiet

(4) 250 & HiX
Options:-

.1, Option ID :- 601,
« 2, Option ID :- 602,
« 3, Option ID :- 603,

. 4, Option ID :- 604,
Answer Given:- 3, Option ID : -603

Question ID:- 152

Anisha joined her office on 2nd March 2001 and retired on 31st December 2022. How long did
she work in the office ?

(1) 22 years
(2) 29 years 9 months 21 days
(3) 21 years 9 months 29 days
(4) 21 years

sfen 3 =ifre | 2 9 2001 | wE w1 ARy fHE a9 31 femrar 2022 @6 9w Hatigw @ T | 3
foran waa & fopan 2

(1) 2294

(2) 297399 HEH 21 faA

(3) 2194 9 5 29 fa

(4) 2199

Options:-

.1, Option ID :- 605,
« 2, Option ID :- 606,
« 3, Option ID :- 607,

« 4, Option ID :- 608,
Answer Given:- 3, Option ID : -607




Question ID:- 153

It is Sunday on 18th December 2022. The day on 15th March 2023 will be :
(1) Monday

(2) Tuesday

(3) Wednesday

(4) Thursday

18 femrar 2022 =1 Waar §1 15 9" 2023 1 f&7 2mm

(1) HHER

(2) HITAAR

(3) d&aR

(4) FEEHidER
Options:-

.1, Option ID :- 609,
« 2, Option ID :- 610,
« 3, Option ID :- 611,

« 4, Option ID :- 612,
Answer Given:- 2, Option ID : -610

Question ID:- 154

Radha is given an Injection of capacity.

(1) 2 litres
(2) 2 kilo litres
(3) 2mL

(4) 02 litre

T Bl Teh kT TR 741 Toident 3199 @

(1) 2 fa=x

(2) 2 fFen faex

(3) 2mL

(4) 0.2 fa=
Options:-

.1, Option ID :- 613,
- 2, Option ID :- 614,
« 3, Option ID :- 615,

« 4, Option ID :- 616,
Answer Given:- 3, Option ID : -615

Question ID:- 155




A jug contains 5 L 50 mL juice. The number of glasses of 202 mL juice which can be filled from the
contents of the jug is :

(1) 20
(2) 25
(3) 30
(4) 35

UF S H 5L50 mL S8 B1 39 571§ 202 mL 34T & frema st 9y s g €, 3R 9 ©

(1) 20
(2) 25
(3) 30
(4) 35

Options:-

.1, Option ID :- 617,
« 2, Option ID :- 618,
- 3, Option ID :- 619,

« 4, Option ID :- 620,
Answer Given:- 2, Option ID : -618

Question ID:- 156

The Parliament House in New Delhi is a circular building with a radius of 85.5 metres. The
circumference of the building is approximately :

(1) 2685 m
(2) 5374 m
(3) 6122 m
(4) 7005 m

feeett 1 GHE va+ R €, fSmst B 85,5 WX 81 39 waA =i ufifyy o &

(1) 2685 m
(2) 5374 m
(3) 6122 m
(4) 7005 m
Options:-

.1, Option ID :- 621,
« 2, Option ID :- 622,
« 3, Option ID :- 623,

« 4, Option ID :- 624,
Answer Given:- 2, Option ID : -622

Question ID:- 157




A purse costs ¥ 425 and is sold for ¥ 455. If the shopkeeper has earned T 660 from the sale of
purses, then the number of purses sold are :

(1) 20
(@) 21
(@) 22
4) 25

U UH F eI T 425 ¥ SR 3H T455 § 991 1| 4G SHFGR 1 F T 660 F A gA 7, d o9 T, g6
HIHEATE :

1) 20
2) 21
(3) 22
(4) 25

Options:-

.1, Option ID :- 625,
. 2, Option ID :- 626,
« 3, Option ID :- 627,

- 4, Option ID :- 628,
Answer Given:- 3, Option ID : -627

Question ID:- 158

The sum of five consecutive multiples of 6 is 2040. The largest multiple is :
(1) 420

(2) 450
(3) 456
(4) 528

6 % UIE FHERTE OIS 1 IR12040 ¥ 1 H9 | 921 U ¢

(1) 420
(2) 450
(3) 456
(4) 528
Options:-

«1, Option ID :- 629,
« 2, Option ID :- 630,
« 3, Option ID :- 631,

« 4, Option ID :- 632,
Answer Given:- 4, Option ID : -632

Question ID:- 159




A taxi charges ¥ 42 for first 2 kilometres and T 16 per km subsequently. The amount payable for
covering 24 km is :

(1) T 384
(2) %394
(3) %504
(4) T 550

% o] aren uge 2 fEeldier @ fEen T 42 a9 3%y uid feendie 1 2 16 feumn @ 2
24 fereirdier w1 W 23 frn .

(1) T 384
(2) % 3%
(3) T 504
(4) T 550
Options:-

.1, Option ID :- 633,
« 2, Option ID :- 634,
« 3, Option ID :- 635,

- 4, Option ID :- 636,
Answer Given:- 2, Option ID : -634

Question ID:- 160

A liquid is to be kept in the range of 40°C to 45°C. If 180 C =100 (F—32), then the range in the °F

15 :

(1) 100°F—110°F
{2y I01°F—111°F
(3) 103°F—112°F
(4) 104°F—113°F

T T 9a1Y 1 40°C H45°C F o= W@ I 81 45180 C=100 (F—32) 8, M °FH gRE 8 :
(1)  100°F—110°F
(2) 101°F—111°F
(3) 103°F-112°F
(4) 104°F—113°F

Options:-

.1, Option ID :- 637,
« 2, Option ID :- 638,
« 3, Option ID :- 639,

« 4, Option ID :- 640,
Answer Given:- 2, Option ID : -638

Subject : EVS_Q161-Q180_PRT21FEBSH2

Question ID:- 161




Match the following :

Constituents of Petroleum Uses
(a) Bitumen (i) Ointment
(b) Kerosene (ii)y Solvent for dry-cleaning
(c) Paraffin Wax (iti) Paint, road-surfacing
(d) Petrol (iv) Fuel for jet aircrafts

(1) (@)-), (b)-(i), (€)-(ii), (d)-(iv)
(2)  (a)-(v), (b)-(id), (c)-(i), (d)-(3)
(3)  (a)-(), (B)-(iv), (c)-(i), (d)-(iii)
4)  (a)-(ii), (b)-(iv), (c)-(i), (d)-(ii)

frafafad = foem =1 :
Weiferan & daeas ITHT
(a) fagaa (@) W@
(b) @t =1 9= (i) Y= goE F fon faomas
(c) Uuftr 9m (iii) U= U ggF fAHi
(d) T (iv) S agaE & fau fm
(1) (a)-@), (b)-(id), (c)-(iii), (d)-(iv)
(2)  (a)-(iv), (b)-(iii), (c)(ii), (d)-()
() @)-), (b)-(iv), (c)-(i), (d)-(iii)
(4)  (a)-(iii), (b)-(iv), (c)=(i), (d)-(i)

Options:-

«1, Option ID :- 641,
« 2, Option ID :- 642,
« 3, Option ID :- 643,

« 4, Option ID :- 644,
Answer Given:- 1, Option ID : -641

Question ID:- 162

Choose the correct statements from the following :

(A) PET (Polyethylene Terephthalate) is a very familiar form of Nylon
(B) Esters are the chemicals which give fruits their smell

(C) Synthetic fibres do not melt on heating

(D) All the synthetic fibres are prepared by a number of processes using raw material of petroleum
origin, called petrochemicals

(1) Only (A) and (B)
(2) Only (A) and (C)
(3) Only (B) and (C)
(4) Only (B) and (D)




=1 & 9 &t FuE & 99 B

(A) 2 (PET) (ufelt ueiiefiq 219eie) Us dgd guiifead yehR &1 Aseliq 8

(B) TR=X d THEA € Sl Well &1 3! 1Y YgH &id T |

(C) Hyerfod W1 7 Fd WX oft 72 farerd €1

(D) il Gyaifa W U2 gel & #=d |t st Y2IERE weerd €, 9 fafay wedi gro dum 63 s €

(1) & (A) 3R (B)
(2) E (A) 3R (C)
(3) & (B) 3 (C)
(4) & (B) 3 (D)

Options:-

.1, Option ID :- 645,
« 2, Option ID :- 646,
« 3, Option ID :- 647,

« 4, Option ID :- 648,
Answer Given:- 1, Option ID : -645

Question ID:- 163

Carrier of malaria-causing protozoa is :

(1) Female Anopheles mosquito
(2) Cockroach
(3) Housefly
(4) Butterfly
TeATH1 YTSE] 1 aEH ¢ -
(1) HIE TATGeATS] Host
(2) fae=e=
(3) HE WAl
(4) faaeht
Options:-

.1, Option ID :- 649,
« 2, Option ID :- 650,
« 3, Option ID :- 651,

« 4, Option ID :- 652,
Answer Given:- 1, Option ID : -649

Question ID:- 164




Which of the following converts milk into curd ? Choose the correct answer with the help of given
codes.

(A) Bacteria

(B) Virus

(C) Fungi

(D) Protozoa

Codes :

(1) Only (A) and (D)
(2) Only (A)

(3) Only (B)
(4) Only (A) and (C)

frafafaa § | #iF g0 #1 <@ | uftafda # 30 8?2 F HI Teraa § Hel I H 994 B
(A) SfETg
(B) fammy

(C) Fa®

(D) TS

qz?':

(1) & (A) 3R (D)
(2) 9 (A)

(3) e (B)

(4) FF (A) ()

Options:-

.1, Option ID :- 653,
« 2, Option ID :- 654,
« 3, Option ID :- 655,

« 4, Option ID :- 656,
Answer Given:- 2, Option ID : -654

Question ID:- 165

Given below are two statements, one of them labeled as Assertion (A) and the other labeled as
Reason(R). Choose the correct answer with the help of codes given below.

Assertion (A) : Damaged seeds float on water

Reason(R) : Damaged seeds become hollow and are thus lighter.
Codes :

(1)  (A) and (R) both are true and (R) is the correct explanation of (A)

(2) (A) and (R) both are true and (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A) is false but (R) is true




9 <) aerred faw o # | uen =) arfireRer (A) @i gE RO (R) el T § 1 fau T e 6 war
T TE Sl =TT B

afieRe (A) :  afaua &S <7 T G &d 2 |

&HRT (R) : afoRred &t WrEel 81 Sid § 371 39 10 8ok 81 & |
(1) (A) 3R (R) SFi &t & 3T (R), (A) 1 &l SARAT FI@ § |
(2) (A) 3 (R) 3T wEt € 3R (R), (A) T G == T8 e 2
(3) (A) 98§ 9= (R) Terd €

(4) (A) 7TeTd & 9 (R) H&1 21

Options:-

.1, Option ID :- 657,

« 2, Option ID :- 658,

« 3, Option ID :- 659,

. 4, Option ID :- 660,
Answer Given:- 1, Option ID : -657

Question ID:- 166

Damaged fluorescent tubes or CFLs need to be disposed off safely because :
(1) It contains oxygen vapour

(2) It contains nitrogen vapour

(3) It contains carbondioxide vapour

(4) It contains mercury vapour

&I TeiRie 2ga A1 Hiuhue 1 giferd 9 § fer #t ey g € =i
(1) =9 siferdisr areq St 1

(2) 9 RIS ared A €

(3) TEH FEeEFEE aTy Bl g1

(4) TIH 9 AT At €

Options:-

.1, Option ID :- 661,
. 2, Option ID :- 662,
« 3, Option ID :- 663,

- 4, Option ID :- 664,
Answer Given:- 4, Option ID : -664

Question ID:- 167

Why does lime water turn milky when we blow in it through a straw ?
(1) Due to carbon dioxide

(2) Due to waste particles

(3) Due to moisture

(4) Due to oxygen




& g % U H 2T % g Fehd § dl 9 giHa 8 S § 2
(1) e SRHAFIRE & HR

(2) Irufere ggrel & wRU

(3) H % HRW

(4) SIS & HRO

Options:-

.1, Option ID :- 665,
« 2, Option ID :- 666,
« 3, Option ID :- 667,

. 4, Option ID :- 668,
Answer Given:- 4, Option ID : -668

Question ID:- 168

Smoke goes up because :

(1) Warm air is denser than cold air

(2) Warm air is lighter than cold air

(3) Warm air has higher volume than cold air
(4) Warm air is heavier than cold air

ﬁmwmﬁ,ﬁ%:

(1) T a3t any it e SAfis T A 7
(2) T 9 It Ay T AUeT ATHE go! Bl §
(3) T AR N S SE1 Arg W AT Ak e €
(4) T 9 It Ay Y qvan sAfees Wkl 2 €

Options:-

1, Option ID :- 669,
« 2, Option ID :- 670,
« 3, Option ID :- 671,

« 4, Option ID :- 672,
Answer Given:- 2, Option ID : -670

Question ID:- 169

All changes in the weather are caused by
(1) Air

(2) Pressure

(3) Humidity

(4) Sun




grgy # gt ufads

(1) ey
(2) <9
(3) ST=d
(4
Options:-

.1, Option ID :- 673,
« 2, Option ID :- 674,
« 3, Option ID :- 675,
« 4, Option ID :- 676,

Answer Given:- 3, Option ID : -675

F HRU B 2

Question ID:- 170

Below are two statements.

Choose the correct answer from the given options.

Statement (I) : The process of taking food in the body is called ingestion.
Statement (II) : Salivary gland is part of alimentary canal.

(1) Both Statement (I) and (II) are true.

(2) Both Statement (I) and (II) are false.

(3) Statement (I) is true but Statement (II) is false.

(4) Statement (I) is false but Statement (II) is true.

= &1 e few e ) fou gu fomedi § 9 wE SaR 1 59
YA () : R I IR o X & 1 WA Sade FHeand ¢ |
HAT (I1) : R Teft Sar Feit =1 femm €

(1) heM (1) 3R (1) 1 9et €

(2) YA (1) R (1) S Ted

(3) YT (1) F& 2, W wAA (I1) 7TeTd 2 |

(4) YT (1) T B, UL R (1) TE

Options:-

.1, Option ID :- 677,
« 2, Option ID :- 678,
« 3, Option ID :- 679,
. 4, Option ID :- 680,

Answer Given:- 1, Option ID : -677

Question ID:- 171




Following are statements related to Pashmina Wool. Choose the correct answer with the help of
given codes.

(A) They are very warm.

(B) They are made by fur of sheep.

(C) They are woven by hand.

(D) These sheep shed their hair in winter.
Codes :

(1) (A) and (B)

(2 (B)and (C)

(3) (A)and (C)

(4) (B)and (D)

e e werdt 3 9 Hafua § 1 2 @ e | WE 3aR A 99 A1
(A) & =ga 7 gt § )

(B) A W & el | a1 el €
(C) AU | A &I 2

(D) 39 9 % o 9fedi # sed ¢ |
%<

(1) (A) R (B)

(2) (B) 3R (©)

(3) (A) @ ()

(4) (B) 3 (D)

Options:-

«1, Option ID :- 681,

« 2, Option ID :- 682,

« 3, Option ID :- 683,

« 4, Option ID :- 684,
Answer Given:- 3, Option ID : -683

Question ID:- 172

“Alert! I am Sultan . Iam very fond of music and Kuchipudi dance.” Fill in the blank
by choosing the correct name from the names of the following rulers :

(1) Afzal Khan

(2) Abul Hassan
(3) Sikandar Lodhi
(4) Akbar Second




“2ifrr | F gear % | 3 M-S 3R FEEl e agd vHa g1
Frefafed wgsl 8§ 9 98 91 #9399 F 5 @E #6 ul|
(1) %S G

(2) 9a T
(3) fosex &t
(4) e fgdta
Options:-

.1, Option ID :- 685,
« 2, Option ID :- 686,
« 3, Option ID :- 687,

« 4, Option ID :- 688,
Answer Given:- 4, Option ID : -688

Question ID:- 173

These animals look like bear but they are not. It spends almost 17 hours a day sleeping while
hanging upside down on a tree branch. They live by eating the leaves of the same tree on which
they live. That is why, they do not need to go anywhere else. Identify this animal.

(1) Polar bear
(2) Sloth

(3) Weaver Bird
(4) Ikea Monkey

3 it wie] 519 foad €, W wreg 761 €13 fo & 6la o He 1S ¥ 3@ f des w vt 4 9 €13 e
g T T €, IH % Ued WL YeTd © | IHIeTY 3% el SIS il STeRd B el Sl | sy I8 HE-91 Se
72

(1) 4o o

(2) Y

(3) efsm/ater gaft

(4) omEfFD I
Options:-

.1, Option ID :- 689,
« 2, Option ID :- 690,
« 3, Option ID :- 691,

- 4, Option ID :- 692,
Answer Given:- 2, Option ID : -690

Question ID:- 174




Which one of the following is the bird in which only male birds build the nest ?

(1) Crow
(2) Indian Robin
(3) Weaver

(4) Nightingale

Frafafaa § | FA-m T vaft 2 food Faa = uadt & 9o & Fmio #wa g2
(1) iem

(2) e fagt (e )

(3) e/ e fafem

(4) I

Options:-

«1, Option ID :- 693,
« 2, Option ID :- 694,
« 3, Option ID :- 695,

. 4, Option ID :- 696,
Answer Given:- 3, Option ID : -695

Question ID:- 175

Karnam Malleshwari is a weight lifter. She comes from which Indian State ?
(1) Tamil Nadu

(2) Kerala

(3) Andhra Pradesh

(4) Karnataka
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(2)
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(4) FHAREH
Options:-

«1, Option ID :- 697,
« 2, Option ID :- 698,
« 3, Option ID :- 699,

- 4, Option ID :- 700,
Answer Given:- 3, Option ID : -699

Question ID:- 176




Consider the following statements and select the correct answer with the help of codes given

below :

(A) There is a special way of reading and writing for people who can’t see. Itis called Braille.

(B) It is written on a thin paper (almost carbon copy paper) by making a row of raised points
(dots) with a pointed tool.

(C) Braille is read by running the fingers on the raised dots.

(D) The Braille script is based on nine points.

Codes :

(1) Only (A), (B) and (C)

(2) Only (A) and (D)

(3) Only (A), (B) and (D)

(4) Only (A) and (C)
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Options:-

.1, Option ID :- 701,
« 2, Option ID :- 702,
« 3, Option ID :- 703,

« 4, Option ID :- 704,
Answer Given:- 4, Option ID : -704

Question ID:- 177

Below are two statements.

Choose the correct answer from given options.
Statement (I) : People of West Bengal prefer to eat rice and people of Kerala prefer to eat roti.

Statement (II) : Things which are grown easily at the place are eaten more at that particular

(1)
(2)
(3)
(4)

place.
Statement (I) and (II) both are true.
Statement (I) and (II) both are false.
Statement (I) is true but Statement (II) is false.
Statement (I) is false but Statement (II) is true.
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Options:-

.1, Option ID :- 705,
- 2, Option ID :- 706,
« 3, Option ID :- 707,

. 4, Option ID :- 708,
Answer Given:- 4, Option ID : -708

Question ID:- 178

Which of the following is true about different methods of irrigation ?

(1) Sprinkler system is used mainly for even land.

(2) Indrip system, water falls drop by drop directly on the leaves of plants.

(3) Drip system is the best technique for watering fruits, plants, gardens and trees.

(4) Drip system is the not beneficial for the regions where availability of water is poor.
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Options:-

«1, Option ID :- 709,

« 2, Option ID :- 710,

- 3, Option ID :- 711,

« 4, Option ID :- 712,
Answer Given:- 3, Option ID : -711

Question ID:- 179




Match the following :

(a) Relief Maps
(b) Political Maps
(¢) Thematic Maps

(1) (a)-(i), (b)-(iii), (c)-(1)
(2)  (@)-(i), (b)~(ii), (c)-(iii)
(3) (a) (1), (b)-(iii), (c)-(ii)
(4) (a)-(ii), (b)-(ii), (c)-(i)
Freafafaa = faem =1 .

(a) =EE AT ()

(b) SHITdF AEfET (i)
(c) Teiifess wmfem (i)

(1) (a)-(i), (b)-(iii), (c)-()

(3)  (a)-(i), (b)-(iii),

)
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(a)
)

€)-(ii)

(4)  (a)-(i), (b)-(ii), (C) (i)

Options:-

.1, Option ID :- 713,
« 2, Option ID :- 714,
« 3, Option ID :- 715,
. 4, Option ID :- 716,

Answer Given:- 2, Option ID : -714

(i) Maps showing natural features of the Earth.
(i) Maps showing Cities, States and States of the World.

(iii) Maps showing road maps, rainfall maps, maps showing
distribution of forests, industries etc

geal st yrhfas sTRfadl %1 guiA ae \Efas
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Question ID:- 180

Which among the following is/are the components of Maps ?

(A) Distance

(B) Direction
(C) Acceleration
(D) Symbol

(1) (A) and (B)
(2) (A)and (©)
(3) (A), (B) and (C)
(4) (A) (B) and (D)
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(A) T

(B) feum

(C) T

(D) wdT®

(1) (A) iR (B)
(2) (A)#R(C)
(3) (A), (B) ¥R (C)
(4 (A), (B) ¥ (D)
Options:-

.1, Option ID :- 717,

« 2, Option ID :-
« 3, Option ID :-
- 4, Option ID :-

Answer Given

718,
719,

720,
:- 4, Option ID : -720
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